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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / ETETRW

faer o faiver Fofafea # 9 59 sieer A A
1. Distractibility / fexcTaaferc

2. Hyperactivity / rfrafepar

3. Hallucinations / Tfd 4T

4, Impulsivity / ST

Correct Answer :-

« Hallucinations / ATdHYH

2) Teachers must constantly deal with changing standards and

teaching profession. / ﬁr&mﬁaﬁ ﬁT&I’WWﬁWWﬁW 3R
& ATY SId BT A1

1. Syllabus / UTGI-faavur
2. Curriculum /q@ﬂfﬁ

3. Assessment / 3Tha-
4. Exam system / TR1&fT TOTTG!

Correct Answer :-

e Curriculum /UI?)“TEITIT

3) Piaget believed that language develops in a child as a result of: / s &1 9T AT i

= ® YTy &1 faer, A & uRumRasu gl 8:

1. Cognitive development / e RIECAGEARS
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2. Egocentric development / AbIGd fdpr
3. Behavioural development / TIBRIHS fdb
4. Environmental development mﬁwﬂqﬁao‘ra

Correct Answer :-

« Cognitive development /Wﬁ?ﬁm

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

W3} 9ga i 31 98 U SRIURUT WRaATeaw el § Afh=T a8 Rien & SaiveHe oiw
81 urdt 8 1 7Y & forw i <) Rreor faf¥r arftres arywe gife

1. Excursions /YHUT T 3G

2. Brainstorming methods /W@"«’fﬁﬁ[

3. Grade acceleration /a_s'?{@

4, Individualized instrucﬁons/m&f&‘m

Correct Answer :-

« Excursions /YHU 1 3-I'IThT.‘Z

5) The occurrence of is an indication of stagnation in the learning process. /

Y Te, SRR Y ufhar & fRRT &1 te GFa 21
1. Motivation / S{fHURTT

2. Plateau / FRRI® (@iel)

3. Progression / WTfdl

4, Curve / dsh (ﬁ)

Correct Answer :-

« Plateau / RRi® (@I—cpf)

6) What is the main objective of teaching in inclusive classrooms? / THTARN Bemai o tIE'Ief
BT YBT I T 8?

1. Preparing students for job/ BE B A B ﬁ‘l'q TR AT

2. Preparing students to pass the examination / EEIEIRNEIRINSESS KD ﬁ‘l'q JIR BT
3. Developing thinking power of students /B &1 i Wfad &1 fae™ B

4. Providing notes to students / STH 1 1Y YT HRAT
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Correct Answer :-

« Developing thinking power of students / BT @1 i g BT [AHT BT

7) Development does not include changes that happen due to: / faera ¥ 9 ufvads aferfera T8t
g Sl 19 & SRT g &

1. Tliness / STARY
2. Learning / 3{TH
3. Maturation / GRT&dl

4. Aging / geIl

Correct Answer :-

o Tllness / SHRT

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TATgAAT I9TH 4 3R Feg” (SATSHTH a9 WA TS S13<) S TR & HAIGTHTIOTS TR0
TIE UCH © -

1. Primary caregiver / UR[Y® Hg—H
2. Family / URaR

3. Parents / Hrar-foar

4. Teachers and peers / e iR Tt

Correct Answer :-

e Parents / ATdT-Udr

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / ST Ydh Il P clql— T‘ﬁ%‘cﬂ
2, @t S arar-fiar T § % g5 e o7 ok 39 9and § 75 ua g & g 3
i@ A5 AT | 9% 5 YHR T uTe=1-uivor g2

1. Behaviourist / SAdgRATG]
2. Authoritarian / W—Cﬁ
3. Authoritative / 3TYBING

4, Permissive / W

Correct Answer :-

« Authoritative / 3TTIBING
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10) Children with Autism are: / LERIBGI (Gﬁﬁ'\'ﬂ:{) J tﬂ%’ﬂ T ﬁﬁ %

1. Unable to make eye contact with others. / @T‘T &Y G{\J@ I qué? FEH W?f
2. Unable to move about comfortably. / 3{IRTH ] E‘[ﬂef T ey

3. Unable to fall asleep. / G o H A

4, Unable to follow instructions. / Al o1 e e § s

Correct Answer :-

» Unable to make eye contact with others. / §¥IQ—|' & 1Y 3G Y YU B | e

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / SIS 9B & AT F SR, T aeg3i 7 eTH ISP
T 9T R & 1

1. formal operational stage/ el Siharares s/
2. sensorimotor stage / YORHICR AR
3. concrete operational stage / ﬂ:cf TfhaTdd SRl

4, preoperational stage / qﬁﬂm SIARYT

Correct Answer :-

« sensorimotor stage / HRTATCR ST

12) One way of minimizing the effects of diversity is to allow the children to: / fafaear & yvma &t

U B BT D 1T g= B = Ft rgufa 31 3:
1. Win over each other/ W—@B\f W Sid BT@IF[ B Bt
2. Operate in separate groups/ Sl -3¢ ﬂ'ﬂtﬁf T BT B B

3. Start small communities of their own/30 I & BIC Hﬂdlq\f Gal TR B B
4. Socialize with each other/ W—éﬂ% & 1Y Aaoid a'crrfr P

Correct Answer :-

« Socialize with each other/ W—@A\’ & 1Y Aol aaﬁ P

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/ mm@a%mﬁwmﬁﬂ%ﬁw%ew, U
JeHl & forg U =iy wiepfae ufaforan gy Haw ST & fore v a=rd ufdfesar 9= airdt
o | Fafafea 3 9 $19 a1 S 39 Rigia & Jqy Frare?

1. Children responding to the bell at school to indicate recess and associating it to happiness./ CEIGRE:]

S T DI T ST HT Yobd THA & MR 3T TN F Y S8 &
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2. Children maintaining silence when the teacher raises her hand/ Sd e BIY 33ld %Fﬁﬁ ﬂmﬁ
TN TG ] 1

3. Children expecting to receive medals by the end of a race/ a@ & 3 TP Ugd U B Bl SHIG
T 9T &= |

4. Children getting star stickers for the right answers asked in class./ P&l ) t@' T 8! SR & ol €R
e U1t 31 Tt o=l |

Correct Answer :-

 Children responding to the bell at school to indicate recess and associating it to happiness./ faemag o

G} IO P T SAHT BT Hdhd THIA & 3R I WM & Ty ohsd g |

14) According to Cognitivism, learning is defined as a change in the learners’

JIFATHDAIG & VR, St & Rrgmffes ﬁw%wﬁw&mﬁam
EIGIE

1. Behaviour / dgR

2. Schemata/ Hdod m
3. Mindset / AT

4. Morals / Afd®

Correct Answer :-

« Schemata/ Haod @Tﬂ?[)

15) According to Bingham, what does an aptitude test disclose? / fSau® SHYNR, Gﬁl_q:ﬁl TY&oT
A T Ul Il 82

1. The tendencies and capacities inherent in the individual's original constitution./ fdd & HA WdHI T fAfgd
&Y SR gt
2. The achievement in different dispositions./ fafdr \}lﬂam Tgar & Iuarsd

3. The readiness to acquire proficiency and exercise ability./ TIIUTdT 3R 31T R P IR

4. The strength of the different dispositions./ fafvra W&W TR &1 gre

Correct Answer :-

« The readiness to acquire proficiency and exercise ability./ TGO TR 34ITY I ! TR |

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here? / T S ] BIaRT & ST RIGTT 4T UT1 379, 98 It |1l & S¥a1 8 1 981 B
1 3ferm Rrgia Ty 82

1. Reinforcement / W

2. Spontaneous recovery / ¥dd: EFITITJIT'T:T
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3. Stimulus generalization / S U FHRITHR
4, Stimulus discrimination / 3§ g fandieur

Correct Answer :-

o Stimulus generalization / JeIUdh HHRIHRT

17) Carl Jung’s approach for a personality assessment is:/ fqde sfiwa- %ﬁqmww

HR:

1, Judging / FOTR

2. Perception / HIG
3. Structured / Wﬁlﬁ
4. Projective / T

Correct Answer :-

« Projective / gadg

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / sifdw = d Fuifva AER & SHeITd el Sl g & ﬁ'I'Q'
e 7 @ fbw wres &1 et o wimar 82

1. Arousal / 3] (URT3vlcl)

2. Drives / 3filg, (ST359)

3. Instincts / W GEReF)
4. Tncentives / TATHT (371@@38)

Correct Answer :-

« Instincts / AAUGRAT GReae)

19) Which of the following is not a part of the process of memory? / fafafead S s Wﬁl’ Pl
fthan &1 fewen T 82

1. Storing information / SHPRI TUsId HIAT
2. Encoding information / SFHRT BT UbaldR0l HRAT

3. Acting on information / =1 UX B AT

4, Retrieving information / \Sil-IOanI Ul x|

Correct Answer :-

« Acting on information / {-T WX DR AT
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20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / SIT-ITcH P faera &t
SU-3ARIT Y TNI1 &, 519 T ST 30+ IRiGiaT -RRT B ou & Ry omrs-Is
W e a1 diaa 37

1. Coordination of secondary schemes / AT ISl &1 9H-ad

2. Primary circular reactions / U g} PIRIERIY
3. Secondary circular reactions / ATl ddlPI} gfafeharg
4, Tertiary circular reactions / W ddihR PIRIERIY

Correct Answer :-

« Coordination of secondary schemes / AT D TISTISH BT qH-ad

21) What age is a child the most impressionable? / foa g WWWWUW@W%"
1. 14 to 18 years/ 14 T 18 TY

2. 2 to 8 years /2@[83&

3.9to 12 years /99 12 a¥

4. 6to l4years/6@l4a'5f

Correct Answer :-

« 6to 14years/6® 14 Y

22) CCEis undertaken ./ '\‘ﬂ?-ﬂ's: - SR¥ foar SITar %I
1. Four times a year /wa’lsfffawm

2. Throughout the year / CLRIRg:|

3. Periodically / HHI-IHT UR

4, Twice ayear/wa'ﬁfﬁaal'\’

Correct Answer :-

o Throughout the year / Y R H

23) Questioning in the classroom : / DET Uy BT
1. Develops inactivity / fAfspaar fasRid Hxar % I
2. Clarifies subject matter / fawg a¥d G| LY Hdl %l
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3. Creates indiscipline / 3IJRIE-ToI-Td UGT Bl g |
4, Is a waste oftime/ﬂ’qqﬁmél

Correct Answer :-

« Clarifies subject matter / fawg a¥d Al Y Hdl %l

24) Needs which grow stronger when unsatisfied are called: / w 'Eﬁﬁ ¥ Holdd Eﬁﬁ arett
AT A+ Fgardl e

1. Deficiency needs / FHH SREd

2. Primary needs / IS ST

3. Growth needs / q@ TR

4, Being needs / ATdRYd SRR

Correct Answer :-

» Deficiency needs / U SR

25) Who proposed the theory of observational learning? / ﬁ&rUﬂtr 3ffeRTH 31 frgia faa
Ugd foar?

1. Ivan Pavlov / gdld qrgard
2. B.F. Skinner /Eﬁ.@:ﬁ. PR
3. Aaron Beck / 3R 9F

4. Albert Bandura / SGXI

Correct Answer :-

« Albert Bandura / SGXI

26) A scoring guide use to evaluate the quality of students is called: / ST P
gmmqwiammﬁ%ﬁmsﬁwaﬂaﬁa@wwﬁﬁﬂmﬁmm?ﬁ
1. Checklist / e

2. Rubrics / s

3. Rating scales / T e

4. Inventories / 37df¢Y

Correct Answer :-
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. Inventories / 37@@?

27) Both pleasant and unpleasant feelings are associated with ./ J4q

3R 3O gAY HTaATe A ST gt &
1. Double approach — avoidance conflict / fg =@ - uRegRr gy
2. Avoidance - avoidance conflict / tlﬁ%’l? - qﬁ@ﬂ' Ty

3. Approach — approach conflict / 2P - VDI gy
4, Approach — avoidance conflict / PP - URER Tay

Correct Answer :-

« Approach — avoidance conflict / ‘a’f@ﬁw - qﬁ%ﬂ IJuy

28) Authentic Assessment is a form of assessment in which: / UTHITS 3fiha+ b
1 UP =7 g forad

1. Students are asked to perform real-world tasks that demonstrate meaningful application of
e o o ~ Y
essential knowledge and skills. / BT B] ARATAID gf-1aT & BT BT HR P [oTT FHeT Sl 3,

ST 3TIRE T 3R DI b Areleh SFTNT ) Tefid Hid &

2. Students results are compared to hypothetical average student / m%maﬁw
DI I B U B A §

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ B & YexF & gd Fuiia amdst an diem & ame! & e ¥ I & fauda amn S g

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction /%&Wmﬁwﬁmm@m mﬁ!ﬁ, W@IT@T&HH%W@W
fuffva sxarg

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /WﬁWW%W@W%WWW%
SN 3T T 3R P & Trefep 3TN ) Teffd #id &

29) CANCELLED
Classical gestalt theory was put forth by: / FATRIG T TReTee Rigid 9 gRT wwgd f&ar war 4t

1. Thorndike / YT-1STS®H
2. Kohler / BIGTR
3. Piaget / ot
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4, Pavlov / |Gl

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

/ Fafafea & @ F19-91 PR fAenay & uex= # 9= &) Ahadr 3R SRIBdT I UHIfad Hedl

8?

1. Parental education background / HTAT-fUdT & fRr&m &1 qgﬂﬂﬁ

2. Physical strength of child / = B! IRING IITT@K‘F[

3. Teachers contribution in learning process / Wmﬁ @TWWW
4. Social Influence on child's learning / I & AT TR GrHE1oIe gUTd

Correct Answer :-

« Teachers contribution in learning process / 3T ufhar & Riefe! o1 aigH

Topic:- General Hindi (L1GH)

1) TYR-AR WY s o
g wiafe wfaaror gfaua
Oy &1 9y sreaifed o
TRy S faga qua=

g TIY-91 99 ¥, Jg-a-1!

S vt 1 Ry rafkfr,
R Sfa BT 3] T
Yap-Jare A G e

ar faa siad o

AT ¥ T SqTel B
gz RR T wgar &
B, 9 5Ta uran ger fren
Rige-Rgx W diuss wrar
Sad 7Y # ¢ SIS
He-giH fra fovam diuw
STHY ARR $T I el
fagga @ firar g area
frdu-fda & ue s
ST U=IR Bl UgHR 19 TS oF aTdt U $T Ik Jarsy|
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UL ‘YAP-Jad’ H BI-9T 3[GPR 82
1. YifqH

2. YT iad WepT=T

3, I&l

4, 3ffa=mfad

Correct Answer :-

2) AR-IYR A s wa
gu-g ufafes ufaaror ufdue
Orra &1 uy Srealfed o1
TRY Trar faga gqu s

g TI9-91 g9 ¥, Jg-a-1!

S v &1 Ry sraflif,
&R Sfad BT 31 T
Jas-gae W §us s

aw iaa siAa Taq

AT Y8 T SaTel HT;
fay-=ray AR 47 wgar &
BT, 9 5T uTan e e
Rrge-Rige A v !
S TH H ¢ SIS
We-gH o fovam e
ST AR BT 3 Serdl;
fagga @ foran @ area
fadw-fge & fus s
SUY T UL Pl UgH - YD S ardt U= BT Sk Jarsu|
U Ay {5 w8 32
1. TTclTT 1 G &

2. ST &t

3, TYAFE! Bl

4, MR @I
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Correct Answer :-

o TBIcHTT AT YT ol

3) TYR-AYR W e wen
- wfafe wfaeror ufoua
Orraw &1 vy sralfed o1
TRY e faga qu e
Tgd 919-91 ga 3, Yg-a!

S worar &1 Ry 3raRkf,

& e BT 3] TS
Ja®-qa® A U o

aw iaa saa Taq

T ¥ T ST HUT;
Ay RR T wgar o
B, 7 5T uTan e e
RieR-Rigs % dus s
Tod Y H ¢ HASIH
We-g4 fra foram diuw
TTHY ARR $T I el
faega @ farar ¢ area
faga-faga A% dius wra
IUYad UL &I UgH A Y o aTel U= &1 IR gt
W: <SR FT FaT HeTeTd 32
1. UfaHH Gfga

2. YA

3. SYTHIOIS

4, ST a1 3UR

Correct Answer :-

. ST a1 3R

4) TYR-AYR W e wen
g wfafe wfaaror gfaae
mmt[ﬂ 3Taiferd B
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IRY Far fagqa qu s+

Tgd HIF-91 ga ¥, Jg-a!

2 werer &1 Ry 3rafRfir,

W STa BT 31 T
Ja®-ga® WY Sus o

ar aa s Taa

AT Y8 ™I Tl H;
fay-sau RR T wgar &

BT, 7 T uTan e e
Rg-Rigy W v wra

Sod Y H ¢ TP
We-8 e fram Sow

WO YRR 6T S el
faega @ Rrar { area
fogw-faga A% uw s

ST Ui Pl UgH 1 IR S aTdl U= &1 Sk aargu|
U R YA GeTaR BT T MR 82
1. 3T Y PIS 751

2. RR wifers

3. RR ¥ da e

5) LR-UYR W U ol
g wfafes wfaeor ufauea
ORI 371 uy Srralfed &
TRY e fage yu a9

Tgd TI-1 g ¥, gg-a!

2 woprr &1 Ry 3raRfm,
R Sfae BT 3] T
Ya®-Jad IR Sus o

ar <faa s T
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HIT T e ATl HUT;

Ay RR P Hgar o

B, 7 5T uran g e

Rev-Rex A% dhues o

Sad Y H ¢ SIS

We-gH A frem diuw

T AR BT 3T el

fagga @ farar g arga!

fodu-fada & §ue s

ST TR B UeHR 14 TS 9H a1dt U HT Ik Jarsy|
WH: Yo T AT Y ¥ Jg I I 1 a1eud 82

1. T8 Y BIS T

2. SR W el S § 99 B 3UeT 96 $© fUge amfey
3. Yoo A gd ST g

4. T P g1 IS gl §

Correct Answer :-

. SR A g S § 99 B SiueT 99 $e fUher At

6) UYR-AYR W Euw wan
g wfafes ufaeror ufoaa
Oraraq &1 vy Siralfed o1
TRY e faga gu s
g TIY-91 g9 ¥, gg-a1!
< v &1 Ry SruRfim,
A ST BT 319] TA-TTed
Jah-a® 0 E® wa
ar iaa siad o

I Y& eI ATl B
fay-zrau RR YT pear &
BT, 9 5T uTan ggr e
Rgy-Rgy W v v
Tad 94 9 SIS
We-gH fa fovam Suw
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SIeTHYT AR T 3R SIedT;

fagga & frar @ area

fadu-fade & fue wa

Sued Ui 61 Ugh? HH YD 9F 91d U= 61 IR Jasu|
TA: SATAl-$Hor {5 FgT T g2

1. Had 3R Bl qUC

2. HId 3FT BT TYTH A

3. 3T A B ol

4. 3T P} AYC AR 3N BT AYTH 3 ST

Correct Answer :-

. 3T P AUC AR 3T BT TYTH M GIAT

7) AYR-ALR A U e

o wfafe wfagor ufaue

iraaw &1 9y sraifed o

RN Tar faga gu a7

gd HIF-91 gd 3, Yg-a-!

2 yory &1 Ry sraRfm,

o Sfad BT 3] T

Ja®-Jad IR S o

ar 2faa s T

AT Y8 q¥1 SaTell BT;

fay-zau RR A pear &

B, 1 STa uTan g e

Rrex-Riey W dius v

Sad 94 T W SIS

He-gH fa fovam diuw

ST AR BT S el

fagga @ frar @ aree

foda-faga W uw wa

ST TR Y UgHR A4 YD WM a1 IR HT I a1z
W= Ay AW U & A1 R ST ST ATEdr 82

1. i1 I8 &t =31 H HRU]
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2. QT & BRI
3. 3T Y HIs T8l
4. YT §ues T G S e

Correct Answer :-

. gadm <tue H GHI ST Iedl §

8) UYR-UYR W Ius ol
g wfafe wfaaror giooe
ORI 31 vy Srralfed &
TRY e fage yu 9

TG AIH-HA1 gd ¥, Hg-a!

2 T &1 Ry Sruffire,
N STae &7 319 AT
Ja®-ga® WX SIus wa

fay-wray RR 47 Fgar &

T, 7 STa uTan g fire
Rgy-Rigy W Sius v

S T H 4 3reTd

We-g e fore o

T AR $T ST Serdl;
fagga & frar @ aea
foda-fage & fue s

ST TR Fi UgHR -4 T oI a1dt U= FT IR qarsy|
T=: Vg SIud A FT ared §?
1. HIA-GUF Sl Wexfed ol

2. S dlus A Hg T8I

3. 41U &I S 9 Wg A8

4, ORI P! AgeH SIUP HET T &

Correct Answer :-

. ORI B WEEH IUH Byl T g
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9) TYR-ULYR W EIUs oIt

g wfafes wfderor giooe

iraas &1 9y reifed av

TRY e faga qu s

TG HIF-H1 gd ¥, §g-a!

2 wepr=r &1 Ry eraffirg,

Y STa T 31Y] TA-TTd

Ya®-Jad AR S o

ar Maa s T

AT TQ g SaTel H;

fay-zrau RR T pear &

BT, T Tl UTaT g3 i

Rgr-Rig W Siue wa!

ad Y H ¢ S

He-8 fa v duw

T AR 6T I el

fagga @ frar @ aree

fadu-fada & fue s

ST TR HI UeH 19 D oH a1dl U= $T Ik qarse|
TR: AT 3 &Y Y fohd TR e FaT 82
1. TSTS PP

2. AU Pl TFHR AR B

3. U R

4, OIS T Y TH To1 UTClT Gl HATDHR &Y I Bl §

Correct Answer :-

. TG A Y TH TG Ul HATHR &Y T Rl §
10) AYR-TYR WY uw oa!

g wfafe= wfaaror gfaae

Orarad &1 uy Sirealfed o1

TRY e faga qu e

Tgd A19-91 ga ¥, Y-

Page- 17



3yt 1 Ry sruffre,

Y ST T 31Y] TA-TT

qa®-ga® A U o

ar Maa s a9

I ¥E ™ Tl H;

fay-zrau RR T pear &

B, 7 T uTan gar e

Rrge-Rig AR v wren:

ST TH H 39 SIS

We-gH A fvam duw

ST AR BT S el

fagga @ RRaT @ Trea

faga-faga At diue e

SR UL F1 UgHR 11 TR I aTdt W= T Sk qargu|
TR Ugd piaar § <Sue iR Rrgaw fFas udie 82
1. T AP TSl

2. AU® 94 ST Ugad wierd &1

3, 3% IS U 3R Vg BT

4, ]G SR Ul &1

Correct Answer :-

. dlus WY &1 Nad G &1
11) TYR-ALR W Guss T
g fafe wfaeror ufoua
e o1 9y et &
TRY e g o s

g HIN-91 gd ¥, Hg-a!
2wt o1 Ry erafifi,

& Sfad BT 31 TS
JaH-Jad AR S o

IR xMtad sHad oA

AT Y8 ¥ Sarell BT,

fayzay AR T pgar &
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B4, 7T 5 Ut g fire

Rge-Rex T e wran

Sed A4 # ¢ SreTs

We-g e fore o

TAHY AR BT 3T SerdT;

fagga @ frar @ areen

faga-faga A huw s

SUY T U $I UgHR I YD W ardt U= BT Sk Jarsu |
U: FaRE A e & fHa PR A S $ $e18?
1. Had AR-AYLR

2. Haq o a-fogd

3. A Yereh-geieh

4, Iqe it

Correct Answer :-

. Suad

12) AYR-AYR W IUS &a!
ga-g ufafe ufraror ufaoe
Oraaw &1 9y sreifed 3
TRY e faga yu o=
g TIY-31 gd ¥, Jg-a-1!

3 webrer &1 Ry 3raffir,
R Sfa= BT 31 AT
Ya®-Yeod AR U o
IR e HEd T

AT IR G STl H;
fAy=ay AR T wgar &
B, T ST uTan g e
Rgx-Rigz A ues o
WA A9 § ¢ SIS
He-gH o fvam o
ST AR 1 3 Sl
faega @ RRaT ® area
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fogw-fagw & diue s

ST TR F1 UePp 19 TS 9H a1dt U= $T Ik Tarse|
TH: Fafe et vy e 3 918 61 82

1. 30 fOrraH &1

2. Tl o1 81

3, Tt ITete &

4, WE I &g o7

Correct Answer :-

o 30 fUgaq &1

13) TYR-AYR WY U oa
gu-g ufafe wfaaror ufaua
firaaw &1 9y seaifed 3
HRY e faga qu s

TG HIF-H1 g4 ¥, Jg-a!

& yor=r &1 Ry srafifa,

o Sia BT 31 T
qa$-Jad A 0P oa!

ar fad s o

I Te T SqTaT B
Ay RR T Hgar &
B, 7 5T uTan g e
Rrge-Rige | v i
Sad 7Y H ¢ SIS
He-giH Fra fvam diuw
ST AR 1 3 Sl
fagga  firar g sea!
frdu-fada & ue s
SR U P UgH 1 IR WM aTdt U= BT Sk qarst|
T AYR AR WY Sue e Sidar o1 digd 399 A fra w A 82
1. Had Wec b1 SATRI TR
2. B Yl fod S TR
3. 3T A BIs ol
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4, Tsq] Pt SMMIRT 3R Tl fod 3fch ST Tl
Correct Answer :-

. Teal Bt AMIRT SR e [T s gl we
14) TR-AYR W 9 !

gur-g wfafe wfdeor ufaua

O o1 uy sraifed wv!

TRY e faga gu e

TG HIH-91 g9 ¥, Hg-a-1!

S v 1 Ry 3raRfm,

& Sfad BT 3] T
qad-gad WX s ol

ar <faa e o

AT Y8 T SaTel HUT;
fay-=ray AR ¢ war &

T, 7 5T uTan g e
Rg-Rrex W Sius v

Sod AU W SIS
He-gH fa fovam diuw
ST RR $T I el
fagga @ frar @ area
fadu-faga W due wa

ITYE UL Bl UgH -1 G o a1et U= HT IR Jastl
W Sreal i o faRivar gars 78 @2
1. 916 DI BId &

2. STEd A H 81 §

3. S0 A IS Tl

4. STea A Tl g1t 8

Correct Answer :-

. Sl B el €t B

15) AYR-AYR W U® oa!

TG e Ao Hfaww
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O &1 vy srenfed w1

TRY e faga qu e

Tgd TIN-1 g ¥, Hg-a1!

S vt 31 Ry rafkf,

A STa BT 3] AT
Yoe-gad W SIus o

ar aa s T

AT ¥e I SaTelT Bl
fay-zray RR T pear &

B, 7 e uTan g e
firee-Rig W v wren

ST TH H 39 SIS
He-g fa fram duw
ST AR 61 3 el
fagga & frar @ arean
fodu-fada ;Y §ue o

ST TN F IGHR A1 T 1 I8 7= BT IR TS ¢
: U 3 fors a1a @1 Simurs AT ST v &2
1, 3BT AT

2, T8 T U 3R &R o Taar @
3. 98 HH qd U

4, foretee 3t 3fare T &

Correct Answer :-

. TR IA MR R A TR

16) HRATY HUT B SFAYF 3, T§ BT BT IS 3 31 AT 7 o1 &7 5 G Y tRAl W Ugell 9 uifq
AT 1T, FHaTrad It Ty & FTH B1 W THa TR TgT g9 S| Biag [Y-A1eed ST Uri=aw 9= 8,
R o1 S0 | $9 R a¥ ugd & got Al Bae | 3P R W AT qHS § e a1
frwars &1 Aiefimar ok e u=ferd faur 819 & yHTr fierd €1 55 39 9HY &7 Uh HeA® UT| 5% Bl
AP B BAfeP Tu ® 3M® frye a1 fhagf~uar 1dt o gt off| Far 37 sy ok syrsh # srififa
ft1 g &) TRGMAT T MY H T SAUTRIS AR $1 TS §U FET $T oTar I 3T 81 IR A
$1A¢ (1/32) PTUE S UST @ :

" gt & WRTHHI BT gui Beam §, e ST a9URY I Iad ugd fFar 81 399 oiff (e 3RR) F 9RT, oid
P YRT B! Yarfed forar iz udd W Afeal & fore I || 3= 7 39 31 & AR RRm, S udd uR 3gan
YT| U7 A 375 P T a91 T9147 471 (375 A S Y ATl &7 IRar Wiar,) IHT g5 T 31 avg o -9 &Y
3T 98 TAT1 ST U1 I P TRGR B & o Jiur foran ik a91 9 oiff R R fan 5= 3 uranfaat
Ft urar 1 faRiy foram | Iu= G, 3T SfR STHTRI HT ST AT SHS TYT 575 BT HIS AT TG §5 A
A P 30T B VY PTe STAT, S U o1 STferar H1dl oimelt & 1 g7 eRell W R T feuH b A dR g5 9
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WS AT YT §75% AU 8, S 3 WA BT 0 fhaT1 81 T 5758 & WERI DI ¥ g Febell UT? 98 T
T W BRI W 1Y 3R Ufd Fe o WR 4 399 5 @ de1s oIl 7l | 575 7 3u@! 1is W aw1 | ueR fpani
(TTHURIT) ST UAT FIS & BT | 38% TPl 82 TI $ chHS-¢PS ol T | 99 oId HT YA1g ANl Pt AR
I & T g3 F SR T 98 3311 T 7 Td $I YRT B TG AP IWT AT 3F 91 ot 39 el goi 98
BT AT 55 A g3 B Rfaagi= arar wR off werR faran urar SR <R, g7 = et 11 93 1 wmar 1 vt <,
R T U TTS P 1Y US) Bl | T BT Y IR 3T STA-URT H UST AT, S} FH+71 718} wr=iet, fagmer 1t
Pt | 3 g & 99 EIH al 5T 3t o T g3 UT| 34fE IHBT 38 AT A ufdr rat Y Ap A €,
I 1 3T o B YRTSH DY e @7 AT

IR TR B UghR - IS T WA HT Ik Ia13¢l
U: §5 & forQ forea a1 s=mam am

1. @7

2. @S

3. SHIFRPAR A

4. gaarsii 4

Correct Answer :-

. @uIA

17) HRAIH HUT P STHYR 3, T8 BT BT 3n1fe A 31 T A R 41071 39 A FF oA W vgeh AR wia
T@T BRI, et St wag & Her &1 ot verasT guR gl g sl Hrag fay-wfee &1 uriiaaa 3 @,
et T 9T ¥ $9 9R a4 ugd g gt Al Hide A SMP WAl W a@Ted WA | HeEl Al
e &Y dieitadr 3R e yaferd faur 819 & TH1r ferd 81 5+ 99 WY &1 U HeHAS UT| 575 &I
AP B wrafed Turer § sme e o fhacfaar 7t o gat Fff 1 warh 31 M) i wutsit ¥ srififa
ft1 g @) TRamAT 3 MY H T Ui faaR @1 T §U FET BT ofar O 3T g1 SHER A
PG (1/32) PTUE M UST R -

"H vt & TRTHHI BT gUi HaT §, ore 39 a9 3 a9 Ugd a1 31 39 Sifg (T 3RR) &) 4RI, a0
P YRT &) Yared forar 3R udd W= Afeal & fore I @ian| g5 7 99 3ife &1 AR R, i udd uR 3gdn
YT YT A 5% P T as1 a9mam 411 (37 7 9 g i &1 3 @iar,) YuTd g3 T 9 ave e A Bt
3R 98 TaAT ST 30 T P TRaR B3 P g Jur fpar ik a9 § oift W wer faran 3= 3 wmanfaay
3t urar &1 foRty frar 1S9 g, ST 3R ST T=I o1 3FTgd fhdT| S UYTd 575 ST HIs U AT 557
T3 & 3T Bt WA P ST, 9 U B STeral H1dt ot § 1 g7 eRell W R U8t e a3k g7 dR g &
TS TN UTI 575 WHUTHL B, I 3P Wit BT g0+ fra1 B 1 997 375 & WER| B ) W Thdl Y12 98 T3
TE Y ERTI W BV 3R UTd Fe o1 IR Hl I 375 I A1 oR} 316 575 3 I9P! 1 R 997 4 UgR
(ATYRTN) 96 YT WIS & GHIad A 3% IFal 82 TF & Che-gdbs ol T | 9 5d $T Ud1g dRN &l @i
T & T g7 F SR T 98 3311 T 7 A P YRT B TR AP IWT AT | 34T I8} ot 39 el g3 98
BT U1 5% 7 g3 &1 AfFas = Arar R o weR fran a9 SR &, 33 1 ust 11 33 o 9 3 usSh <,
S Y 3T TS P 1Y US) 81| T BT G IR 3 STA-URT T TST AT, S Fb+1 7L} S, fagmar =1l
Pl | 53 ST & 99 A gipx al o 3} 9 FhT 53N AT 3R IHBT IS UTI S ufr At @l A A €,
I € 3T A B YRTSA B AP @ AT

IUY T B Ugh? 1 IR 7T U= &1 Ik 915t
U $ P T & fore wm frett?

1. RS

2. favrg

3, 3¢

4. v H

Page- 23



Correct Answer :-

18) HRATY HUT B SFAYFN 3, TE DT BT IS 3 31 AT 7 o1 &7 5 G Y Rl W Ugell 9 uiq
TG g1, ST It T & FHer &1 W vHad gUR TgT g9 11| Fiag fy-anfee 1 uriean = 8,
Rrael 7o §1 | $9 9R 99 ugd g gat A Hiag ¥ ome Wal R awhre wae § wgEl an
freamis o) dieadr 3R Te yaferd fAur 819 & yaTur fierd 81 5 99 9HY &1 U6 HeMAS UT| 55 &I
AP B Hrafed Tue # oM Ry a1 fhaef~ar 7t o gt <ff1 Farl 37 frys o wursh # srwiftfa
At1 g &) TRamAT 3= 3y ® U Ui faaR @1 T §U FET BT oTar IiH 3T 31 SR |
FIAG (1/32) BT UG A USAHIT @ :

T g5 & IRTSHHI BT qUI BT §, oI S0 TR 3 T ugd foman 81 399 8ifg (TS 3RIR) $1 ORI, oid
P YRT &) yated forar 3R udd W Afeal & fore I @ian| 5= 7 99 3ifg &1 AR R, 5 udd uR Igdr
ATI BT 55 & 1T a1 Tmam ATl (&= 7 S g Afea & I @ier,) Ut g8 Tl 3t @) o A Bt
3T 98 TATI ST U1 I P TRGR H & ¢ Jur foran ik a91 9 oify R R fhan1 5= 3 urnfaat
ot ra 1 faRiy foar| S99 g, ST SR STHT= Y 3T fbaT| S0 T §75 BT $IS I AT §5 A
I F 3N B VY P ITAT, 9 U8 B STl ST STt 1 g3 Rl W IR UsTI 7u #7 A IR =/
TS T AT 375 AHURA §, 3T 3P I3 BT g0 fha1 81 99 375 & WERI &1 $A 0 THar 412 I8 31
TRE A BRI W 1Y 3R UTa Fe oM W W ST 575 9 7T oIRT Tl 575 7 S9! Yo W a9 A UeR fa
(TR 3 HEAT HiS & HbTad | 8¢ HPdl 82 T & CHS-¢Ps 8l T | 6 Sidd BT UdTg AN 1 T
I & T g7 F SR T 98 3311 T 7 T $ YRT B TaRGxA AP IWT AT 34T 981 7t 39 Real g 98
IET U1 5% 7 3 &1 AfFae = A R o weR fran 9 SR <8, 73 i ust o1 33 ot arar T usSt <,

S M 3 TS P 1Y UST 81| T BT d IRR 3 TA-URT T ST YT, S FH1 81 S, fasmT Tl
Bl | 5 < P o A §iope al ofet 3t I T g3 AT TR SHePT T&1eh UT| S T IrE) Y Aep A §,
3 € I oI BT YRTSN P P @1 YT

ST T B UGHT 19 IR 7Y Y BT I Ga1gul
=: B1Y 3R UTq ®e o1 WR ot frem €5 3 g oY v
1, 91T

2.9
3. Tied
4, g

Correct Answer :-

19) HRGTH HUT B STHYF 3, Tg HET BT IS G 31 AT 7 I 407 $H G B 4Rl W Ugell 9R Uiq
I g, FeTiid I THT | He &1 ot v=ee guR I8l g3 8NN | Bidg fay-anfdss &1 uriaa 9= 8,
et 3991 ST I $© §9R a4 Ugd g g@! Al Fdg § oMo w@l W AhIei Jue | St a1
foreams & dAeiadr ok T yaferd faur 819 & THT e €1 5 99 99T &1 U6 HeFa® UT| 575 &)
AP g1 wrafew T # smw e a1 fhaef~aar 7t o gat ff1 weri 371 frye) ol wursit # srwififa
Ft1 3 &) TiamAr = 3y B U v favaR @1 I §U HET BT ol I IEd 31 SR
FA< (1/32) PTUE SR USHA R :

"B §75% b IRIHH! BT Jui Hal §, e 30 aourt 3 ved vgd fHar 31 S9M ¢ifg (THe SRR) @1 uRT, S|
P YR P! yaTied frar 3R udd W Afal & fore I @ian 3= 7 39 4fE 1 uR R, St udd wR wgar
Y| BT A 35 & I 991 9991 471 (@75 A 9 &) Afea &1 war @ar,) 4T g5 el 91 @R wa i @
3R 98 IaT| ST U1 I Pl TRGR B & A FiHuT= forar i aw1 A oiff R weR fhan 5= 3 vrnfaat
Pt AT T faiy farar 1 39 g, IuT 3fiR STHT=T H1 3FTgd fFaT| 3HP U 375 BT B /T A BT 557
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T & 3TN DI TH HIE STAT, S US P STl HIET SIrdt & | g U¥ell R R USTI HUHE b G AR T% A
TS T UTI §75 WAL B, I 3M it BT g0+ fHar 81 997 575 & WoR| St ) g TPl Y12 98 T3
WE W TRT W Y 3R Uld Fe o W I 375 A TS ORI I 575 7 TP 1S W 991§ WeR fHar
(@ATYRTN 96 YT HIS & GoHTad B g% THal 82 T & chs-gPs ol T | a9 5d HT Ud1eg TR Bl @i
I & I 99 F HWR A 98 ISTI T 7 T DI YRT B TGl AP M7 AT 3 T8t et 39 el g1 98
T[T AT §5 A g3 & Wfaagi= arar wR H werR fovan amar S R, 93 1 vt 411 939 &1 arar v vt 4,

S T 3TN T9S F 1Y US) 81| T BT Jd IRR 3T STA-URT T TST AT, S FH+71 e} Sy, faeme 1)
Pl | S ST & 90 A gip? ) o 3} 9 FhT g3 AT 3ifR IHST IS UT| <17 ufr 7l ) A A €,
I ) 3T T B YRTSA B AP T@T AT

ST TR P USHT 2 T T UL 7 SR qarsyl

TR: $% 1 9 g1 A &1 IRar W 9 i fH @ve 98 I g8
1, I B AE

2. IRA B e

3. STl Bl RE

4, 3T g TN B Re

Correct Answer :-

. YT g8 Tl @ TRE

20) WRAGY HUTH STFAYFI B, I8 PO BT S G 81 T 7 o1 &f07 59 3 $T eReAl W Uget IR vig
@ g1, FaTferd I THT A Hg &7 ff wae guiR a8t goi ghi | Biag fay-arfec &1 U=y U= §,
It Y1 ST 9§ $O FOUR a4 Ugd 81 @t A1 HAg H 3D WAl W I q9e § BT a1
freamiis 9 diefirad ok ue wafird faeur 819 & v firerd €1 375 S 990 &1 U WeH1a® U1l 575 i
AP &) Brafew T § smw e ar fhaef~aal 7 o gat Fff1 wer 371 e ik wursit # srififa
Ft1 3 @) TiamAT 3= 3y B T v faaR @ T §U HET 3 ol I YT 31 s R
FHIdG (1/32) T U SIS B :

"H §75% b WRIHH! BT gl Hal §, e 30 aorurt 3 9ad vgd a1 31 39 @ifg (e SRpR) &1 URT, S|
P URT B yared fpar iR uda wR ATl & R I @) 55 A 39 9t 3t AR R, it udd w vgar
ATI U7 A 3% P 00 a5 T91am 471 (3= 7 9 € i o1 IRar Wiar,) IHT g8 T 91 @vE 5 e
3R 9 TAT| ST 3T T P TRaR B34 P ¢ U Far 3iv 991 § oift W wer foran 3= 3 wrarfaay
3t arar &1 faRTY farar| 39 g, 3T SR SH =T 1 3FTgd fhaT| S UYTq 575 BT IS A AET §5 A
I F 30T B U PTe STaT, S T B Siferar H1el oielt &1 g7 eRelt W AR Ut Heu" b g7 dR 3= 9
TS T UTI §75 AU B, I/ 3P F3it T 0 fhar 81 997 375 & WER| &y U TPl Y12 98 T
TRE A BRI W TTY &% UTq He o W M 3 35 @ aaTE ot 7| 575 3 Sud Uie W a9 @ weR b
@TYRON 96 YT HIS & GHIad | 353 IHal 82 T & cha-gPs ol T | a9 9d PT Yd18 GNN &1 @i
T & T T F SR A 98 33T T A Fd DI YRT B ARG AP @7 41| 3 T} e 3 A1 g3 98
QT ATI §°% A 93 St WMfaag =1 91a1 W ot UeR fwan ara Sur &, 92 i ust 311 93 & Arar v ust <A,
SR T 3 9SS & 1Y UST 811 T BT d IRR 3T TA-URT & UST AT, 51 FH1 g1 Sirat, fasmr 1al
FRat | S SN & 99 A gip) af o 1l AP FBT g3 AT 1 3R ITHT Xerw ATl Y uldr el i A A
I 1 IHA O B URTSN H1 AP T@T AT

I T B UGH 12 IR 7T U= BT Ik 9a13¢|
TU: §% 7 309 997 3 5 SRR &I aR1?

1. 318

2. AU

3. FHRR
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4, AdUITER

Correct Answer :-

21) HRATY HUT P THYR B, T8 FETN BT 3T 31 71 779 R 407 59 37 Y oA W vt I ufa
TG BRI, e St wad & HeTi &1 ot veraeT U g8l goi g1 Hiag fay-wfie &1 uriisad I 8,
et a1 391 3 $© 9R a4 Ugd g gt Al Hide B 3D WAl W dawIed JAT | HgHt al
feamis @1 dieiiadr 3R T yafrd faur g9 & wamr fierd 81 575 S0 99T &1 U6 WeTH1a® U1l 575 3
AP & FAfed Tue § 3w frue a1 fhaef~yar 1t o goit <ff1 Fer 3 frys oiv syt # srififa
Ft1 3 @) Tfamar 3= 3y B T vl favaR @1 T §U FET & ofar A 3T 31 SR |
PG (1/32) PTUE SR USHT | :

"H g7 & TRTHH! BT gl Hal §, e 3T IR A Tad vgd a1 81 3¥M ¢ift (WS 3RR) ©) URT, 5ia
P URT B yared fpar iz uda W AT & R I @) 55 A 39 9 3t AR RRm, it udd w vgar
ATI ET A 35 & I 991 99 ATl (3 3 9 €Y Afea &1 v @iar,) YU g3 T 91 ajE ora e @)
3R I TATI I 3(UA T6 D] TER B & fore Fiur farar ofik aw1 F oify R wer frar 3w 7 aranfaay
3t arar &1 faRiy farar| v g, ST SR SHTI=T 1 3FTgd fhdT| $3d UYTq 575 BT His AT AT §5 A
T F 3N DI VY P ITAT, 9 U8 B STl 11 S1dl § 1 93 tReNl W IR UsT 7 #b IR g= /A
TS T AT 575 WIHURA B, /A 3FP I3 FT 0 fHa1 81 T3 375 & USRI &1 5 Tg GPhal Y17 I8 It
TRE A BRI TR B1Y 3T UTq Fe W1 W Y SUA 57 T 7STS oRT 36| 55 3 3991 Uis IR 991 9§ UeR faani
(FTURUT) 3 HEAT TS & BTad H 36¢ TPl 82 TI & cHS-chs 8l T | 6 Sidl BT YaTg ANl $t A
T & I 77 F SR T 98 3311 TT A A F YRT B TaRGRI AP IWT AT 3T I o 39 el gom 98
T[T AT §5 A 3 B Wforre i 7rar W) R fovan) arar SR <R, g7 = uet 411 93 @1 arar o ust 4,
SR T 3 TS & 1Y UST 81| T BT G IRR I -SRI H UST AT, Sl FH1 g1 S, fasma gl
amﬂwﬁam%wﬁaﬁwa‘rmmﬂwwgmwaﬁmw&mmla‘éuﬁrwaﬁwaﬁ%
I Y 3T T B YRS B AP @ AT

IUY R T B Ugh -1 U 7Y U= 1 Sk 93¢
U 3% 7 g, IUT 3R 31T 1 T fhan?

1, 3FTqd
2. 3

3. AIHad
4, MATHR

Correct Answer :-

22) HRATY HUT B SFAYF B, T8 O BT IS G 31 AT 7 1 407 5 I Y Rl W Ugell aR Uiq
@ I, FaTferd S T0T A HeT &7 W} wae guR a8t goi R | Hide f3y-arfec &1 urei=ay U= g,
et T 39T ¥ $9 g9R a4 ugd B gt A Biag # oMP WAl W a@Teid JATS | $eEl a1
freamiE &) dieibadT 3R e yaferd fAuT 819 & THIu fierd 81 55 99 9HY &1 U6 HeMaS UT| 55 &l
ADx g1 Brafew Turer § smw e o fhaefaar 7t o gat Fff1 wari 31 frye! o wursit # sriftfa
ft1 3 B TfamAT 3 3T H T TS faaR & U §U BB $T orar I 3T 81 3R A
FIAG (1/32) PTUE M USHII® :

"B 375 P WRTHHI BT a0 Hal §, B 39 IR 3 Ta usd fHar 21 399 3iff (e SRR) &1 uRT, 5
Y URT B! yaTied fohar 3R gdd W 7l & forg e @ie | §75 7 99 it &t 7R FRm, st udd W g
YT| P17 55 & I 991 99 47| (375 9 9 €Y Afea &7 v @ar,) Yurd g3 T €1 av wa R @
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3R T8 TATI 3T YA T B Y@ H3 & e Frur= fovar i a9 § eife iR wer forar1 s+ 3 wranfaay
3t arar &1 oY forar | 39 g, ST 3R S T=T 1 3FTgd fhdT| 39 YT 575 BT HIs U AT $5 1
AP 30T B VY PTe STaT, T IS o1 SIferar w1t ot &1 g7 Rt W AR T fauH e gA dR 3= 9
TS =T AT 5 WIUTAL 8, S 3 WF3M BT G f6aT 81 9§75 & TERI Pl b We Wl UT? T8 Ry
TE T BRI W 1Y 3R UTq e o1 R W ST 575 A dsTs IR} 36t §75% A 3BT e W a9 | UeR i
(ATYRTN 96 YT IS & GHIad | 3% THal 82 TF & cha-¢Pbs ol T | a9 5Td PT Yd1g GNN Bl @

T & T g7 F SR Y 98 3311 T A Td 1 YRT B ARG AP IWT AT 3T I8 7 I el gon 98
BT 4TI 5% A 931 P WfTg 1= A1a1 W oft UeR fran| Arar SuR i, g7 1 usT 311 9 & Arar ¥4 v <A,

S T 30 T5S F 1Y US) 81| T BT Jd IR 3T STA-URT H TST AT, S} FH+1 1) oreielt, fagmer 1t
Fait | 3 T & T | giox al o 1t T THT g UT1 ifE ITPT I8 AT A ufdr el Y I A
I IR T B URTSN FH AP @ AT

ST TR B UG - U T YA HT IR 93¢l
TR: URATY BT Pt BT Y a2

1. S

2. SR Yy

3. HHYM

4. SR YA

Correct Answer :-

23) HRATH HUT B ST B, T BT BT 31T & 81 TS 7 o7 &101 30 41 T 4Rl W Ugell 9 wia
I I, FeTfId 3T T A FeT $7 ot v=e SR TeT g3 8N | g fay-anfes &1 uisaw 3= 8,
Rt T ST ¥ $9 g9R a4 Ugd g gt At Hiag ¥ sMe @l R dTad Jue § HEe A
frwarig &1 dieftadr 3R e yaferd e 819 & uHTr fierd 81 5+ 99 WY &1 U HeHAS UT| 55 &I
AP} B BT TS ° Mw fye ar fhagi~uar wdt o gt <ff 1| wart 37 sy ofik wureh A sravififa
1 37 B IRAMUT 30 39 T T U=y IR B A §U T o1 Srar g I@dl 81 ST D |
PG (1/32) BT U AW UBHIT R -

& 3% & IRTHHI BT I0H Hal §, o2 ST ToURY I T8 Ugd f5ar 81 399 3iff (e 3RR) F! 4RT, 9 d
P YRT B yarfed forar ok uda R Al & forg Ivar @1 375 3 39 3ifg @) AR AR, st udd w Tgar
ATI U7 A 5% & Y a91 ST ATl (35 3 9 Y Afea o1 IRar Wiar,) JUTdl g3 TR 31 @vg o i @
3R I TATI I 3 T& B TR B & fore Fiur farar i aw1 F 3ify W wer faran| 3w 7 aranfaay
3t urar 1 faRiy foram| 39 G, T SR STHTRI HT 3FTgd fHaT] SHD UYT 57 BT HIS AT AW §% A
T3 & 30T B WX P ST, 9 U B STieral H1dt ot 8 1 93 el W R vt e e g dR g 3/
TS T AT 375 AR 8, wﬁmn@aﬁmmm%lquaimﬁﬁwmwaggﬁ
e W BRI W 1Y 3R UTd e FH R W 3T 375 9 TeTs R} 356t §5 7 SO ! W 991 1 WeR fHan
(ATYRTN 96 YT HIS & YHTaal B g% THal 82 T & che-gPbs ol T | a9 5d HT Wd1e AR Bl Wi
T & T g9 & SR A 98 I3T1 9T A Fd D1 YRT B ARG AP AT A1 3 I} oIt 34 I gall g3 98
QT AT §5 2 g3 &1 xfaagi= amar wR f werR favan urar S <R, 971 12 et 311 939 1 wrar v vt <,
Y Y 3R TBS F 1Y US) 81| T BT Y IRR 3T STA-URT T TST AT, S FH+1 T} S, fagmer 1)
Fet | 3ot T & a0 B gl o ot aa Tt g UT| ifg IUDT 38 AT S ufdr el Y U Ad €,
I IR O B URTSN B NP T@T AT

S T B Ugh? -1 IR 7T U= T Sk 915t
T: BIAG [9Y-ATec BT BT TY AT A 32
W ICIERE]

2. Uit
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3. ST
4, AAHTCH

Correct Answer :-

24) HRATY HUTH THYR B, I8 FETN BT 37 37 71 779 T 407 59 377 1 oA W vgeht IR ufa
I N, FeTiId I THT | ST &1 ot vee SR T8l g3 gNM | Bidg fay-anfee &1 yiiaa 9= €,
el 3991 391 9 $© 9k a¥ ugd &l g@! Al BdE § oMo RIEl W dpid 9IS | @gt a1
foreams & e ok T yaferd faur g & TATor fierd €1 55 S99 99T &1 TP AeFaS UT| 575 &I
Wﬁﬁ%mﬁmﬁwmﬁﬁaﬁmmﬁmgﬁaﬁlmsﬁﬁmaﬁ?$maﬁﬁamfﬁh
Ft1 g @) Tiamr 3= 3y B T v favar @1 I §U HET 3T ofar I IEdl 21 s R
FIAG (1/32) PTUS MU R :

"H §% &b IRIHH! BT 9l Har §, e 30 aourt 3 vad vgd a1 31 39 @ifg (W SRpR) &1 uRT, S|
P YRT B vaIed fpar 3R udd w= Afeal & e I @1 5% A 39 3ife Ft AR AR, St udd R wgar
4TI 8T 7 3% & U 991 9991 471 @5 A 9 €Y Afea o1 v @ar,) Y4 g el 91 ave wa i @
3R 98 TATI ST YA T D1 UGN HI & g FrHur fHar 3 a9 4 ife )R UeR frar) = 3 arnfaar
ot 7 1 faRiy fobar| S9 g, U1 SR ST Y 3ATgd fbuT| $HD LT §5% BT PIS A AT §5 A
A P 3T B VY PTe 1T, S Vs o1 SIferar +1dl ot &1 g7 eRelt IR AR Ut Heru" e g7 dR 3= 9
TS TAT UTI T AU B, I 3 F3Ht 1 0 fFa1 8 1 997 375 & WER| $ Hd Wg Tl Y12 98 T
TRE ¥ TR W 1Y 3R Uid e oM I i 67 55 A 9T oIRI 76| §75 A SH&! 4o W 991 4 oK fobar|
(TTHTRVT) S UAT TS P BT | 6% TPl 82 TI P cHS-cPS 8l T | 99 oId BT UaTg ANl $t =
T & T g7 F SR T 98 3311 T 7 A $I YRT B TaRGKA AP IWT T 3T I 71 3 el g 98
QT AT §5 2 g3 &1 Mfoaei= arar wR f wer faran amar S <&, 931 i ueT o411 93 &1 wrar v vt 4,

S T 3UA I5S P 1Y US! 81| I BT Jd IR 3T STA-URT A TST AT, S SB1 e Srielt, fagma &l
Feit | 3 T & T A gD al o 1t T T g UT1 34fE ITDT & AT A ufdr M B I A,
AT €Y I T B YRTSH BT A 7@ AT

UL TR Y TGP e IS Y Y BT IR Ia1gy
WRH: 93 BT Jd IR Bl UsT g3MT 412

1. ST |

2. SHM TR

3. IBI8 |

4, JAYRT I

Correct Answer :-

. SAYRTH

25) HRATY HUTH] AU 3, T§ ST T 1S 32 3 | A A Foret &101 39 32 $1 oRefl W vl IR via
I g, FeTiI ST T & T $1 o vae TR Ig1 g3 SR | Hidg (Y- &1 uri=aq 3= 8,
Rrae) 7o $ | 79 9R 99 Ued & gat f Fag ¥ ome Wal R awhreE wae § wrEl ar
e @t Aieiaar ok te vafid faer g1 & yamr fed 81 3 39 99g &1 U6 9IS 4T 5 B
AR 5t Brdfed Tt A 3 e a1 fbacf=rar wdt s gt Ff1 werit 57 fiye ok wursit § sriftfa
At1 3 &) TiRamar 3R 3y § U Ui faaR @ T §U FET BT oTar IH 3T 81 SR R
FIAE (1/32) PTUE M UBHA @ :
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"8 §5% & IRTSHHI BT qUI BT §, Fole o aaURT A Ja9 g foan §1 39 3ifg (M@ $RR) &1 4RI, 5id
P YRT B yaIfed fpar 3R udd R A & e I @1 5+ 9 39 318 &t AR R, it udd w Igar
YT P15 P 00 a1 9918 471 (35 7 9 8 AT &1 I Tiar,) YU g3 T & @ve 5a e 3
3R 98 TAT1 ST 30 Td P TRaR B3 P ¢ THur fFar ik a91 F oift W wer foran g= 3 wrarfaay
3t arar &1 foty forar| 39 g, ST 3R ST &1 3FTgd fhdT| S UYT 575 BT HIS U AT 55 1
T F SN D1 VY P ST, A Vs o) STl 1L 91t §1 939 R\ W AR vsT v sy IR s=
TS Tl AT §5 WITUTAL 8, S 3 W3 BT g fBa1 81 9§75 S ORI B b We WPl 412 @ R
TRE | BRI IR 1Y 3R UTa Fe oM W Hf I 575 9 ST wIRT T | §°5 7 S9&! Ulo W a9 4 UeR f&a|
(ATYRTN 96 YT IS & DA | 353 IHal 82 TF & cho-gPs ol T | a9 od PT Yd1g GNN Bl @i
T & T T F SR A 98 33T T A 7 DI YRT B RGP AT A1 3 T} o7 3 g1 g3 I8
IET UT1 5% A 3 & fdae A AraT R ¥ WeR foran arar SR &, 93 - ust o1 93 &t 9rar 3 usSt <,

S T 30 TS P 1Y US! 81| T BT Jd IR ST STA-URT A TST AT, S} FH+1 1) wireielt, fagma 1)
Pt | 32t g & 99 | g dl ora 3t o T g UT| 3ifg ITHT 38 AT A ufdr ral Bt I A
T € ST oI B YRTSA BT AP @ AT

IUGR TR Bt UGH 11 IR 7T YA T Sk aa1gel

T: BIAG | 3D TUTI IR dpTel TaTST § fhee! e irrar & ywmor fied §2
1. BTH-UIS

2. i TR

3, fepprt

4, fo=ams

Correct Answer :-

26) HRAGY HUT B SFAYH ¢, T8 BoTl I 3G o 8| 7oA 7 o1 4101 59 =1 Y Rl W Ugedt IR Uiq
T g, FeTiid I} T | T 31 o e R Ig1 g3 gR | Hidg fay-anfge &1 urdi=aq 9= §,
T} 99T ST ¥ 9 g9k a4 Ugd g @l Al Fag § oMd W@l W IhIei IS | St a1
frwamE 91 e iadar 3k e u=ferd faur 819 & THIT fierd @ 1 55 SS9 9HY &7 UH HeMIAS YTl 55 &I
AP B BAP Ju | 3Mw s a1 fhagi~rar 7dt o gt off| war 371 sy ik wursh § sraififa
ft1 3= ) Ifamr 3ruA 3y § T Siu=Rie favaR ) gie §U Hel &1 el A e 81 s R @
$IAE (1/32) BT UG T TS L -

¥ 5% P IRIHHI BT 9ufH T §, o 39 a9 I wad vga foran 81 399 $ifg (e SRpR) @) AR, e
P YRT Y yarfed forar ok uda R ARl & fore I war! 3w 7 39 4fE H uR AR, St udd uR Tgar
YT| U7 A 5% P I a1 a9man AT (375 A 9§ Afea &1 IRar Wiar,) YUt g8 T 91 @vg od e @
3R 9 TATI I 3MUA T& DI YER B & o1 Fiur farar iR aw1 F 31fy R weR far 5w 7 wranfaay
Pt arar &1 foRvY fram | 39 g, 3T SR S T=T &1 3T fhaT| 39S UHT 375 T HIs I AT 55
A & 3T I VX PIE ST, S Us b STeral H1dt o1t # | 97 tRell W AR T TeuH $vd g dR g% 9
TS Tl UT1 §75% AU 8, S 3 U3 BT A AT 81 9§75 & USRI Dl bH Hg Tebal U2 8 TR
TRE A BRI W §TY 3R UTa e o1 W W 3T 375 I w91 oIRY 36 | §75 3 301 Uio W a1 4 e
(ATYRTN 96 YT WIS & YoIad § 368 Thdl 82 T3 & cha-gPbs ol T | a9 5d P Ud1e GRN &) &
T & T 97 & HUR A 98 ITI 9 A e BT YRT B TGl AP M7 AT 3 T8 Ol 39 el g 98
QT AT §5 A g7 B xifagi= arar wR f werR faran urar S R, g7 12 et o411 939 91 wrar v vt <,
R T 3T TTS P I US! &1 T BT Y IRR 3T TA-URT H TST AT, S FH+1 18} o=, fagmar 1)
Pt | 3 T & a7 | gD al 5T 3t o T g3 UT| 3ifE IUBT I8 AT A ufdr et Y p A €,
I Y 3T oA B URTSH Bl A 7@ AT

I TR Y UGH 19 I 7T U= 6T I@R 9a13¢|
U I JHY BT ARG 5T SadT1 B A1 STIdT A12
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1. fawg
2.3%

3. R@
4,39

Correct Answer :-

27) HRATY HUTH SFAYH 3, T§ S 1 3G I 3 | 7S A Fore &101 39 3 $F oRefl W Ul IR vl
I 8, FeTiid I THT | FT $1 ot vae 3R Ig1 g3 8N | HBidg fAy-anfder &1 urdaa 9= 8,
e 1 S ¥ 99 g9k a¥ ugd g g i1 B # Mo Wl W dopiei IS § ST a1
i &t e iaar 3R v yafed faur 811 & waTr fied 81 5% 9 99 &1 U6 HgHES 4T 55 &I
AP B Hafed Tue # s Ry a1 fhaef~ar 7 o gt ff1 warl 37 s ofiv wursh # sriftfa
8t1 3 &) Tfamar A 3y # U v faaR & e §U HETHI BT orar A 3@ 31 s R A
FIAE (1/32) PTUE MU R :

"B 375 & WRTHHI BT quI Hal §, Brg 39 IR 3 Ta usd fHar 81 399 $ife (e SRR) o1 4RT, 5
P YRT P YaIed fpar 3R udd IR 7T} & e I @l 375 3 39 3ife F1 AR R, St vdd W= Igar
YTI P79 5% P I 751 T9ma7 471 (37 A 9 € AT &1 IRar wiar,) IHTd g8 T 91 @vE o d e @
3T 98 TAT1 STYA U1 I6 P TRGR B & ¢ FiHur= forar ik a91 9 8ify R weR far1 5= 3 wranfaat
3t urar &1 foiy farar | I g, T SR SHT=T o1 3FTgd fhdT| 3P U 575 $T HIs WU AT 551
A & 30T ) VY PIE STAT, 9 Us & STeral Hrdt STt & 1 99 el W AR 08T Ueu= $3d g dR 35 9
TS T UTI §75% AU B, I 3P il BT 0+ frar 81 937 375 & WoRI 3t 5 g Tl 41?2 98 T
e A BRI W 1Y 3R UTd Fe o W H 39A 575 T @1 Wikt 36| 575 3 399! fis W a9 9§ ueR faani
(TTHURT) ST YT IIS & HTIA | 6% TPdl 82 TI P cho-¢PS ol T | 99 e HT WaTg Al Bt TR

T & FIT g3 F SR A 98 3311 TT A T 1 URT B TaRGRA AP IWT AT 3T 981 ot 39 Rl g a8
IET UT1 55 A 93 & Wfqag = amar R i weR foran arar SR <&, g3 i ust o1 93 ot arar i3 usSt <,

S T 3 TBS P 1Y TS 81| T BT Jd IRR 3T TA-URT T ST AT, S Fp1 781 Sirat, fasm 1)
Feat | 5 T P 9 giopR ol o7t 31t O ST g3 AT AT SHPT Tered T S Ty I Y AP A,
A € I oI BT YRTSN P e 7@ YT

I T Bt USHR A9 IR Y YR T Sk 913t

TR: §5 &1 TRAT 3 MY # fra foar s awe gu e
1, =i

2. THIADR

3. TR

4. BUT

Correct Answer :-

28) WRATY HUT B THYFY T, T8 ST T 31T I 71 7T 7 RO 4101 59 3 Y Rl W U8l IR uid
I g, FeTiId ST THT | HeT &1 oft veae SR T8l g3 gRM | Bidg fay-aifes &1 uriaa 9= 8,
oT®t 3991 ST A O g9R a4 ugd gl g@t At Hdg § oMe W@l W AhIei IS | Bt a1
frars ot aiw T SR T vaf faur a9 & v e §1 375 99 999 31 U9 UeHRS AT 55 $i
AP B Hrafed Tue H sAw Ay a1 fhaef~yar 7 o gost ff1 Fer 39 s ofv syt # sriftfa
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A1 g5 BT IRAAT U= MU & TH =TI IR ) TUS G BT DT &l GTH ¥E@di g1 ST e A
FIAG (1/32) PTUE MU E :

"8 g & IRTHHI BT Jui Hal §, e S0 a9URY 3 a9 ugd far g1 399 8ife (e 3RR) $ °RT, 9id
P YRT B! yarfed faar ik uda R Afeat & forg Ivar @1 375 7 39 31fg &) AR R, s udd w Tgar
YTI U7 A 5% P g a51 a9man A1l (3 A 9 8 Afea &1 IRar wiar,) IuTd g3 T 9 @vg o e @5
3R 9 TdT1 ST 379 Td P TR B3 P 7€ JHu fHar 3R a9 F oift W wer foran 5= 3 wmarfaay
& A &1 SRy a1 I g, ST SR ST ST STgd a1 S U4Tq §75% ST HIS T @M §57 A
T F N DI VY PIe 1A, JA Vs B STl 1t 91t §1 93 (Rell W R usT 7 s IR g= 3/
TS TAT UTI T AIHUTL B, I 3D i BT 0+ fFa1 §1 39 55 & WoR| 3t 5 g THdl 412 98 T
TRE ¥ TR1 W 1Y 3R Uid e oM TR 1t 367 55 I 99Ts oIRT 76| §75 7 S9! 4o W a1 3 eR fobar|
(ATURTT) AT Wl Al'S b HBTaa 36 THdl 82 T S ¢he-cHS 8 T | e Sl $T Y418 alil &
T & 1T 73 F SR T 98 3311 T A T 1 YRT B TARGKA AP IWT AT | 3T I} ot 39 Rleal g3 98
IET YT % A T &1 AiFas = 9rar R o UeR fan urar SR o, 93 -1 usT o1 93 &t 91a7 09 vt 4,

S T 3(UA TTS P 1Y US! 81| T BT Jd IR S STA-URT A TST AT, S Fb+71 1) S, faema el
Pt | 3 T & I H g al o 3t T T g3 UT| 3ifg ITDT I8 Ut S ufdr Il it A A €,
I B 3T 7 B URTSA BT AP @ AT

I T B Ugh -1 U 7T YR T Sk 93¢l

T: S5 &) AP 8 d Tae & eM® Ay iR fhad il 7dt s
1. W dfed

2. BiAfeH

3. IR

4, Ifcw

Correct Answer :-

29) HRAGH HUT B THHH ¢, I8 DT BT 3Tfe o 31 AT A Ford &107 $H <=1 P ¥Rl W Ugeht aR Uig
I g, FeTiId I THT | FT &1 o e gUR I8l g3 gR | Bidg fay-anfdes &1 urdisaq 3= §,
Rt T 591 | 99 T9R a¥ Ugd g g9l At Biae ¥ 8RN Rl W) dwTeld IS § S A
P &1 dieitudT 3R U aierd fauT 819 & UHTuT fierd €1 5 99 9HY &1 U6 HeHTa UT| 55 &l
AP & Hialed Tu H sMw s a1 fhaef~al 7 o gt ff1 warl 5 fys) oiv wurs # srwiftfa
Ft1 35 o) IRTUT 37 31U F T Siu=iRIE AR @ U 5T BT BT oTar I 3T 31 sH R A
FIAE (1/32) PTUE WIS R :

"H 55 & WRIHHI BT Jui- Bl §, o S0 o= I a8 ugd f5ar g1 394 3ifR (e 3RR) F 4RT, oid
Pt YRT B! yaifed foran 3k uda R Al ¥ forg Ivar @ian | 35 7 39 @ifg &) AR AR, <Y udd W wgar
YTI U1 A 575 P I a1 9147 AT (375 A 9§ A &1 IRar Wiar,) IHTd g5 T 91 @vE od e
3R 98 TAT| ST U T P TR B3 & g Jwur fpar oiv a1 3 ifg W wer faran 3= 3 wrarfaay
3t urar 1 faRiy faram | Iu= T, 3T SfR SThT=I F1 ST f5aT| $HS U4 375 BT HIS AT AT 554
T F 3N H1 VY PIe STA1, 9 Vs &) STRmal 1l w1t § 1 g3 Rel W R UsTI 7u #7d A IR 3= J
TS Tl UT| 5 AU 8, S 3 I3 BT A fHUT 81 9§75 & USRI Dl b4 Hg Wbl U2 T8 TR
RE ¥ ERT| W F1Y 3R Ufa e o 0X W I 575 A w918 o) 6 | §5 7 St o W a1 & WeR o
(ATHURON I HAT HIS P GHTIA § 383 TPl 82 TA P P S-chs ol T | 79 ST BT UaTg AN &1 T
T & 1T g3 F SR T 98 3311 g A Td 1 YRT B ARG AP IWT AT 3(F 91 et 39 el g 98
QT UTI §°5 A 931 3t Mfaag =1 9rar W ot wgR faran arar Sur R, g3 i ust 311 93 & arar v vt <A,
R T 3UA TTS F TIY US) Bl | T BT Y IR 3T STA-URT H TST AT, S FH+1 78} wr=iet, fagmer 1t
Pt | 3 T & 9H W gD al 5T ot o T g3 UT| 34fE ITBT I8 AT A ufdr el Y Aep A €,
I Y 3T O B URTSH DY A @ AT

I T Bt U A1 I Y U= T S@k ga1stl
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U 3% 1 99 | Wfaaeid frd Gt wr oft wer faar?
1, AT R
2. fUar R

3. W
4. YT R

Correct Answer :-

. AR

30) HRATY HYUTHI AU 3, T§ HT! T S 3 3 | 7S A Fore &101 39 3 B oRefl W Ul IR via
T@I BT, FeTrq S T § S &1 Hf Uae sUR Jg1 gl SR | FHidg fay-Aiige ST Uri=ad I 3,
Rt T S0 | 99 T9R a4 Ugd g g9l il Biae § M RG] W dwbrald IS § S A
s 3t e ithar 3R v yafed faur 81 & yamr fed 81 55 9 99 &1 TP UgHES 4T 575 $i
AP B BAfeP Jure # 3Mw frys ar fhagf~uar 7dt o gt off | Far 37 sy ik syrsit # srififa
Ft1 3 &) TiamAT 3F 3y § T Siu=TiRS faaR @ T §U FEI $T oTal IH 3T 81 IR A
FIaG (1/32) PTUS M UBHII @ :

"H $% & IRISHHI BT U Bl §, T 39 aoIur 3 9ad ugd a1 8 1 399 off (T 3RyR) & 9T, 5|
P YR B Yaried forar iR uda W Afeat & g e wianl 3% 3 99 31fE &1 uR R, St udd W Igdr
YTI @TT A 5% P ¢ a9 T9mam ATl (35 3 9 8 Afea &1 IRar Wiar,) IUTd g8 T B @vg o e @
3R 98 TATI ST U T P TR B P g Jiwur fpar i a9 3 sifg W wer faran 3= 3 wrarfaay
3 U 7 faRiY foram | 39 g, IuT 3R SThTRI HT ST fHaT] HP UYT §7 BT HIS T QT g5
T 3N H1 VA PTe ST, A U8 &) STRMAl S Sret § 1 93 Rell W IR UsT| 7aua #7¢ A IR g= |
TS TAT UTI $75 WAL B, I 3 il BT g0+ fhar 81 997 375 & WERI 3t 5 g Tl 41?2 98 T3
TRE | BRI W 1Y 3R UTq He oM W Wt T 575 9 7T oIk} Tt | 575 7 S9! o W a9l A UeR fhan|
(ATYTROT) I W1 WIS & T & 363 Tbdl 82 T3 b Tho-ghe ol T | 79 S BT YT @Il Bt W
T & T g1 F SR A 98 33T T 7 0 DI YRT B SaRGw AP @7 ATI 3 I} o7t 34 I gal1 g3 98
T[T AT §5 A 93 3 Wfawrgi= arar ) W e fovan| amar S R, 93 - usT 411 99 1 9rar v st A,
Y MY 3 TS P 1Y TS 81| T BT Gl IR 3 Td-URT A TST AT, S} FHT 781 e, faomy =k
et | SR T & 9 A QYR ot T ol e ST gaHT AT 31 ST Xed AT S U It A A
I E I T B URTSN Bl N @7 AT

IR T B Ugh? 19 IR 7T U= T Sk 915t

TR: HIAGHI HYDI 3R HAUTSH H FAT Srifdfa A
1, gHTYOT

2. B

3, qraraeit

4. 3fdsTd

Correct Answer :-

Topic:- General English(L2GE)
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1) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn’t
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, get out of this fix means:
1. Come out of a cage

2. Come out of a bond

3. Come out of a fixed mind set

4. Come out of a difficult situation

Correct Answer :-

e Come out of a difficult situation

2) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.
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In this passage, quandary means:

1. Happy

2. Confused
3. Angry

4. Sad

Correct Answer :-

e Confused

3) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

Why did Athena decide to challenge Poseidon?
1. She understood the dilemma of the villagers

2. She wanted to snatch the trident from Poseidon
3. She wanted to rule the village

4, She wanted to prove her strength

Correct Answer :-

e She understood the dilemma of the villagers

4) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.
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Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn’t
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, the phrase flung his trident against the mountain means:
1. Threw the Trident at the mountain

2. Stroked his trident against the mountain

3. Fixed the trident on the mountain

4, Knocked the mountain with the trident

Correct Answer :-

¢ Threw the Trident at the mountain

5) Read the poem carefully and answer the question given below:
The moon

Shadowed by greed,

Eclipsed by corruption,

The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.
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At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

Curiosity and grace have been comparedto
1. flood water

2. darkness

3. moon

4, stars

Correct Answer :-

e stars

6) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.
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Mankind snaps awake from this daze
Is guilty, soon makes amends
AND the moon shines again

In its rightful place...

“Shadowed"” in the first line means:
1. sadness

2. followed by

3. covered by

4, darkened with

Correct Answer :-

» covered by

7) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze

Is guilty, soon makes amends

Page- 37



AND the moon shines again

In its rightful place...

“"The moon of honesty awaits her turn”... The figure of speech used is
1. Metaphor

2. Personification

3. Alliteration

4, Transferred epithet

Correct Answer :-

o Personification

8) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...
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The moon is compared to

1. attitudes in human beings
2. honesty in human beings
3. values in human beings

4, curiosity in human beings

Correct Answer :-
+ attitudes in human beings

9) Read the sentence carefully and choose the option that has an error in it:

Last year our overall sales figures fell by 18%, all the same, the company suffered a major
setback.

1. Last year our overall sales figures fell by 18%,
2. the company suffered
3. all the same,

4. a major setback.

Correct Answer :-

+ all the same,

10) Fill in the blank with the correct option in the given sentence:
He was instrument-- in bringing the first ever indigenous ship to India.
1. --ed

2. --ally

3. --ation

4, --al

Correct Answer :-

o --al

11) Fill in the blank with the most appropriate preposition in the given sentence.
The mechanic is the car.

1. over
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2. by
3. under

4. below

Correct Answer :-

o under

12) Choose the correct option to fill in the blank in the given sentence:

Mr. Khan gave us a --test before the final examination to check our learning skills.
1. post--

2. anti--

3. counter--

4, pre--

Correct Answer :-

13) Fill in the blank with the correct option in the given sentence:

Large factories employ workers for night shifts.

1. routinely

2. routine

3. routiningly

4, rotation

Correct Answer :-

« routinely

14) Choose the appropriate tenses to fill in the blanks in the given sentence:

When the Queen she she wanted to rest.

1. is finished eating, declared

2. has finished eating, is declaring
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3. has finished eaten, declared

4, had finished eating, declared

Correct Answer :-
+ had finished eating, declared

15) Choose the right tag:

)

Yellow is your favourite colour,
l.isn't it

2.is it

3. hasn't it

4, doesn't it

Correct Answer :-
e isn'tit

16) Choose the option that substitutes the given phrase appropriately.

A qualified accountant who inspects the accounting records
1. Auditor

2. Clerk

3. Statistician

4, Surveyor

Correct Answer :-
e Auditor

17) Change the given statement to indirect speech.
He said, “"These are my pencils.”

1. He said that those are his pencils.

2. He said that these are his pencils.

3. He said that those were his pencils.

4. He said that these were his pencils.

Correct Answer :-
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» He said that those were his pencils.

18) Which of the following options best combines the given two sentences?

You will get good marks. You work hard.
1. Working hard, you will get good marks.
2. You work hard, you get good marks.

3. You will get good marks working hard.

4, You will get good marks if you work hard.

Correct Answer :-
¢ You will get good marks if you work hard.

19) Choose the appropriate antonym for the highlighted word in the given sentence.
Our soldiers are known for their bravery.

1. Snobbism

2. Humility

3. Cowardice

4. Gallantry

Correct Answer :-
e Cowardice

20) Choose the appropriate prepositions for the given sentence:

I was depressed when my higher authorities turned my project scrutinizing it.
1. down, without

2. towards, by

3. into, before

4, around, after

Correct Answer :-

e down, without

21) Choose the appropriate conjunction for the given sentence:
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Those rulers who believed they were invincible set out to conquer the world were clearly
power hungry.

1. and
2. as
3. but

4, because

Correct Answer :-

+ and

22) Choose the appropriate option that rewrites the given sentence in its active voice.

Since childhood, he has been liked by everyone as he is very amiable.
1. Since childhood, everyone had liked him as he is very amiable.

2. Since childhood, everyone has been liked by him as he is very amiable.

3. Since childhood, everyone liked him as he is very amiable.

4, Since childhood, everyone has liked him as he is very amiable.

Correct Answer :-

¢ Since childhood, everyone has liked him as he is very amiable.

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Art schools sponsor trips to interesting parts of the world.

1. Donate

2. Encourage

3. Support

4. Educate

Correct Answer :-
¢ Support

24) Choose appropriate articles for the given sentence:

My brother plans to live in hotel on outskirts of city.

1. The, g, the
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2. The, a, no article required
3. No article required, the, a

4, a, the, the

Correct Answer :-

e 3, the, the

25) Choose the best option to complete the given sentence.

The two boys were fighting with __ when mother told _____ to behave .
1. each other, them, themselves

2. me, you, myself

3. all, us, ourselves

4. us, them, himself

Correct Answer :-

« each other, them, themselves

26) Choose an appropriate modal for the given sentence:

Rajni need the money to pay the fees tomorrow.

1. should
2. will
3. can

4. could

Correct Answer :-

o will

27) Choose the most appropriate determiner in the given sentence.
There were chairs in the auditorium.

1. empty

2. colourful

3. wooden
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4, seventy

Correct Answer :-
e seventy

28) Choose the option that best explains the highlighted expression:
I could finish the report by Tuesday at a push.

1. something is possible if nothing goes wrong

2. something is possible but only with some difficulty

3. something is possible if someone pushes

4, something is possible if someone offers help

Correct Answer :-

e something is possible but only with some difficulty

29) Choose the option that best explains the highlighted expression:
Parents who don't have control over their children have a lot to answer for.
1. are irresponsible

2. have a lot of answers

3. have to answer many questions

4, are responsible for a lot of bad things

Correct Answer :-
« are responsible for a lot of bad things

30) Choose the option that best transforms the sentence into its Indirect form:

The teacher said, “"The sun rises in the east.”

1. The teacher said the sun rose in the east.

2. The teacher said the sun will rise in the east.

3. The teacher said that the sun will rises in the east.

4. The teacher said that the sun rises in the east.

Correct Answer :-

¢ The teacher said that the sun rises in the east.
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Topic:- Science (SCI)

1)

Find %, v and z representing the number of moles of the reactants and products in the skeletal

equation given below: /
A BT AT e AT FHEROT #F ATEERST R Sce & ATHIVEHET s JEar &

yfafafica & amer x. v 3R z Ad &3
FeaO3 + xCO = yFe +zCO-

1.x=1,y=2 & z=1
2.x=3,y=2& z=3
3.x=2,y=3,& z=2
4.x=4,y=3 & z=4
Correct Answer :-

e Xx=3, y=2 & z=3

2) What happens when a sound wave is propagated through a medium? /
gfe eaf a1 T A1ed | YaIRd g1, O T gIel &2
1. The particles of the medium move perpendicular to the direction of propagation of the wave./

T P HUT, T b UOR &I Q=M &b daad MR gid ol

2. The particles of the medium remain in the state of rest./

HIEH & HUT IR 7 36 T

3. The particles of the medium make to and fro motion about their mean position./
HIH & BT, 390! 11 U & THiY 3eRSeR- TT=fid g1 & |

4. The particles of the medium are also propagated. /
miem % o1 ff v B €

Correct Answer :-

» The particles of the medium make to and fro motion about their mean position./

IO & HUT, 31 A1ed fRUMT & THiT SeRIeR- fa=iid 8d &

3) What are the common fishes selected for pond culture systems? /

arerre SadE yonerat & fore Tafaa o 18 I wofar b-al 82
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1. Sharks and rays /W AR
2. Sardines and mackerals / e GﬁTﬁW
3. Mullets, bhetki and pearl spots/w, Yeo! 3R Ue Wie

4. Catlas, rohu, mrigals, common carps and grass carps / S cdl, ﬂ‘g’, Hid, M B4 3R T
EaL

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / dcdl, ﬁ_g', Hid, WW Gﬁ? PIRSE

4) The phenomenon responsible for the twinkling of star is: /

IRl 3 ferfeage & forw SwRerl e §:
1. Dispersion and reflection / YR 3R WRIdeH
2. Reflection /Wﬂ?ﬁ

3. Atmospheric refraction / qlgl—ism“lu 3T

4, Dispersion / U8R

Correct Answer :-

« Atmospheric refraction /amﬂ—e'.?ﬂn 3Uad-

5) Which one of the following diseases is almost eradicated from our country? /

frrafifea 7 4 fog fart ®f gaR 3 & v e w far mar e
1. Dengue / S

2. Malaria / GaiiRaT

3. Encephalitis / AR MY

4. Poliomyelitis / QTR

Correct Answer :-

. PoIiomyeIitis/tn'i%‘l'@f

6) The hotness of an object can be measured by its ./

Y avg @ THige @ TP SRT HIUT ST bl g
1. volume / 3H1IAd
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2. Temperature / dIUHIH
3. Size / PR
4, Density / Y¥-cd

Correct Answer :-

« Temperature / dIUHTT

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

U Uge & Qe B GRT TP 5o 81 GlerT b1 rafe o g2
1.0.5s

2.2s

3.1s

4,0.1s

Correct Answer :-

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 TF1 go0m™ &1 U@ AN, 10 fie/A%s & U9 GAE AT 5 APs & o ue gfas
Tdg & GHIGR TMfaRid g1 39 e g1 Sdrfed @RI g:

1. 0.5 m/s?
2.2 m/s?
3.0 m/s?
4,50 m/s?

Correct Answer :-

9) Complete the statement with the correct option given below:

Matter is anything that i

= fou e faweul o & 9E) faweu gIH: HUT 3 gul o9
v ag g St
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1. occupies space and has a definite mass. /
I 2Rl g 3R ForyepT e Ff3d g giar g |

2. occupies space but has no definite mass. /

I 9T © Afh 39T Dis M Soua= Tal glal o

3. exists as a solid with a definite mass. /

T FAfYd G & A Th 31 & ©0 § Higg giar gl
4. has a definite mass and a definite shape. /

T fAf3d oM U9 e fAfAd SR ST 8ar 2|

Correct Answer :-

« occupies space and has a definite mass. /

YT IRAT & 3R 51 T HfAd oA siar gl

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /

cuso, & TH faaas, oy ara YR T & S STHT §3MT 3 W ger adT faag <1 Hia
M TR 91 & o1 wgad g1+ arell SUgad YT &7 a0 He |

1. Silver. / dic}
2. Gold. / FIHT
3. Mercury. / URT
4, Zinc. / STl

Correct Answer :-

o Zinc. / Sl

11) Sharp edged metal pin will go easily into the wooden board because: /

A YR qTelt T B U7 ST & Akl & dte § Y |Te wiifo:

1. As area of contact reduces force increases / TU% &F HH FERER dedl %l

2. As area of contact reduces force decreases / JU® &7 HH 8 I 9 HH gIal %I

3. As the area of contact reduces the pressure reduces / $ & HH @'3[ Y qE HH Eﬂ?ﬂ %’I

4. As the area of contact reduces the pressure increases / TUs 8 HH 8 I aF dJedl gl

Correct Answer :-
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« As the area of contact reduces the pressure increases /| ¥U® &7 HH g1 I I 9¢dT ¢

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given
that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

I YR & 1Y TP TP 6l TP AR & AT B AT & [ ITTHT § a1 o1 TR
fFrafafaa $f$a Tar 31 e arae §Em = o finft ik 35 amue dfEw - 52 @1 faa
w%%@wwmlﬁﬁ,%@mav 100 TSI F ATFY 8 | SWIFd GI-T A AR
PIHMH &:

1. 0.0052 cm / 0.0052 T&
2.0.052 cm / 0.052 It
3.0.26 cm / 0.26 99t

4.0.52 cm /0.52 9H

Correct Answer :-

. 0.052 cm/0.052 IH

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /

4 U did BT U dd GHY dP 35 a1l | I§dT €, a1 39 TR U g¥ T B URd oH
STt 21 T8 1 Ty fo=1 acal &1 v fayur g:

1. Cu(OH), and CuO / Cu(OH), ¥d CuO

2. Cu(OH), and CuCO3 / Cu(OH), T& CuCO;
3. Cu(OH), and Cu,0 / Cu(OH), T4 Cu,0

4. CuO and CuCO3 / CuO Td CuCO4

Correct Answer :-

« Cu(OH), and CuCO; / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /
PIATES & Srfd TUred &1 9 He |

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

HIASSA B HUI dd db Tl SFd &, OF db [ I Uid Tal OIS a1 SIdT &, T
PSS 9" HTh! RR B &
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2. Colloidal particles are not visible to the naked eye. /
Pl HUAHR 3l P! fewrg T8 4d

3. The size of colloidal particles lies in the range 1077 =10 cm /
HIARSH BUI BT HBHR 1077 -1075 JHT. Bt AT H B B

4. A colloidal solution is homogeneous in nature /

TS HlAESd [Faud Upid & Ioldid g g

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TP HIAEsd AT Upia & Ioldid giar 2|

15) Identify an isotope used as a tracer to detect the blood clot in human body /

A TR § Yo & Y BT U1 T & fo¢ T ¢8R & =0 & Uged g a1l T
RS Dt Ugar o1 |

1. Uranium — 235 /?ﬁﬁmﬂ— 235
2. Todine -131 / TS — 131

3. Sodium — 24 / QifeTH - 24

4. Cobalt — 60 / PIETeT — 60

Correct Answer :-

« Sodium — 24 / qfSTH - 24

16) The product formed when iron reacts with steam is /

wie 3R arsy RfehaT T 991 9TdT ST §:
1. FeO
2. FeH

3. Fe203

4. FE304

Correct Answer :-

. FE3O4
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The role of decomposers in the ecosystem is /
TR o1 & ervues! @t YRreT gt g
1. They do not act on organic compounds. / J FEHP TffTe] R B Tol P |

2. To convert inorganic materials into simple forms. / JPTEEH Ul B IR =0l & gRafad
HRATI

3. To convert organic materials into inorganic forms. / HIEHD Tardl ®l fda-d Ui J
gRafdd BTl

4, To convert inorganic materials into organic compounds. / 3PTe P Terdlf P P Afireh! A
aRafdd &

Correct Answer :-

« To convert organic materials into inorganic forms. / HIEFS Uerdf &l fpTafe Ui J
gRafdd S

18) The lightning arrester helps: /

dafgac@rsem s fu o vee Hrar s:

1. To store the electric charges at the time of lightning /
dfed & 999 faggd 3Maxll & Uaid H- |

2. Dissipate the electric charges in to the atmosphere /
faggd smal & argded d sied Ul

3. Avoid the production charges on the clouds /
ITealt § SHTasi & e I g | |

4. To transfer the electric charges to the ground /

faggd Sma=ll & YW ¥ RIHdRd & 4

Correct Answer :-

« To transfer the electric charges to the ground /
fagqga 3=l &1 Y & RFaRd &3 J|

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 &=t & wep W & wfer fo 10 92 & 1T 5 91e & <9 Teuil & W 9 fraiare gl &
ol fagga St =) wua gl 82

1. 15 kWh
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2. 150 kwWh
3. 15000 kWh
4, 1500 kWh

Correct Answer :-

« 15kWh

20) Calculate the formula unit mass of MgS04.7H,0
[Atomic masses: Mg=24u,S=32u,0O=16u, H=11u]/
MgS0,4.7H,0 & T FPTE STHT B1 0T HY:
[ORHTY] STHM: Mg =24 u,S=32u,0=16 u, H=1 u]
1.286u

2.232u

3.246 u

4.198 u

Correct Answer :-

e 2461

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

dg® A Tl gR 91 R T MUifvd aws! & 918 U= Tdl g STt 81 el o1 ifast
Soll g1 U ¥ 394 uRafdd gt oIt 3:

1. Only Heat energy/mm Sl
2. Kinetic energy for the wooden board /W%@é%m‘”aﬁ Sl

3. Only Sound energy / Had @ Sl

4. Sound and heat energy both / @< 3R ST Holl Gl

Correct Answer :-

« Sound and heat energy both / €afF 3R AT FHuif gl

22) Ina sunny day, when the atmospheric temperature is 370C, the temperature inside a car,
which is parked on an open ground is: /
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T YU 1d 137 ¥, 919 argHS e arqa 37° AR i1 ®, ) T R & 3icX 31
ATIHH, it gd AeM 3 @S §, - ghm:

1. Greater than or equal to 37°C /370C & SRISR T HfYH
2. Equal t037°C / 370C & SRTSR

3. Always greater than 37°C / 37°C EEEIRED

4. Less than 370C / 370C ¥ &H

Correct Answer :-

« Always greater than 37°C / 370C ¥ 3ff®

23) In a filament bulb the electrical energy is converted into: /
s fhamdic 9o (dg 9o9) ® fagga Sl &1 sad uRafda fear s 8:

1. Chemical energy / NRIRIEEARCA|

2. Only heat energy / Had ST SHoll

3. Only light energy / &I UBT STl

4, Light and heat energy both / Yh IR 3R ST STl gl

Correct Answer :-

« Light and heat energy both / UPTRI 3R &1 Solf Gl

24) What is the valency of Carbon in Methane? /
WA | Bree o1 Taierdhar fhast 82

1. Valency of C = 2 / C &I TSIl = 2

2. Valency of C=1 / C B TaISIhdl = 1

3. Valency of C = 4/ C @ JgIoidhdl = 4

4. Valency of C=3 / C DI TTofendl = 3

Correct Answer :-

. ValencyofC=4/C$3fwm=4

25) Which among the following is a mixed anhydride? /

fFrafafaa & & w1 te ffda tieEsEs 87
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1.CO,
2. N,05
3.50,
4,NO,

Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /
Frufafaa & &« sFTe YT & forg fordzor Iura 18 82

1. Chemical method / IS fafdy

2. Fumigation / ‘Ef‘ﬁ

3. Plant products like mineral oils / WIS 9 S UTey IdTS

4, Cultural method / WW fafdr

Correct Answer :-

+ Cultural method / WW fafer

27) Which of the following is a biotic component? /
Fafafea & 9 o9-91 1@ 3 9o 52
1. Air /dIg

2. Water / oicl

3. Soil / TogT
4, Living things / SiIfad a¥qq

Correct Answer :-

« Living things / STifdd a¥y

28) Which of the following is a chemical effect of electric current: /
= ¥ 3 1 faggd UaTe &1 Irf=® YUTd §:

1. Producing a magnet using electric current /

fdggd UaTg BT IUTANT S Th Jab IS PRl
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2. Producing heat in an electric kettle /
T Salfaeds il H HBHT I BT

3. Producing light using electric bulb /

foTelt & Sod BT STANT B U ST HIAT

4. Production of H> and O, by passing current through water /

O T YRT FaTfed FRb Hy 3R 0, BT IATGH HRAT

Correct Answer :-

» Production of Hy and O, by passing current through water /

O § 4RT Ja1ed B Hy 3R O, BT IATE HRAT

29) Name the property of the components used for separating salt and camphor. /

TP 3R HYR B e B3 P fore wahT fard o= aral gea! & Turerd gargd |
1. Using separating funnel /qmﬁaﬁquﬁ

2. Magnetic separation / t\idd?ﬁlq PLEERU

3. Sedimentation / 3{dHIg
4., Sublimation /@W

Correct Answer :-

« Sublimation /G?QETUIHT—[

30) Discoveries, inventions, laws, theories are all related to the

G, sifaser, o, Rigia |ai q Hefa g1
1. ease in daily living / 3% e & S
2. study of science / A &1 3T

3. luxuries of life / SIId & S RENILEE]
4, satisfying human curiosity / {HErT oI P W DAl

Correct Answer :-

. study of science / 1O &1 3fema
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Not only formative but also summative assessment can be conducted through: /

9 Had fFAtuTHe, g ads mead it Ay & Areay & Swnferd
far o o g:

1. Homework / Wﬁf

2. Question and answer sessions / UH 3R I I
3. Projects / gfgreTTefl
4. Self-evaluation of teachers / ﬁ[&lﬁ D E—W

Correct Answer :-

« Projects / gfareTef

32) The drawback of Case Study method is that it does not lead to a: / +9-

wetfafrwrgugfrag__ v @i e
1. Generalization / JTHTITHRT

2. Conclusion / fFepy

3. Categorization / GBI

4, Assimilation / STHITIH T

Correct Answer :-

. Generalization / GTHRNHROT

33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? / fFrafafea & @ <14 3t Iaa vd amue geuied (Hs)
P faRiyar T8t 22

1. It helps the teacher to learn about the existing concepts of students. / & BIEICH]

AIS[ET SaURUTST & TR H S H 18/ Bt Tgridl dRdl g

2. It involves more frequent tests and examinations. / Qﬂﬁ TR Uﬁ&I'UT 3R
Tiem gitford gial g |

3. It involves repeated assessment of the same parameter. / 5‘{'“-:[ U 33[ HlHQUs ]

IR-IR 3ffha- FrRIferd gidT g |
4. Tt is a school-based evaluation. / I8 Wm-\’rﬂﬂllia W %I

Correct Answer :-
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« It involves more frequent tests and examinations. / Eﬂf{ GRIISIR qﬁ&I'UT 3R
e gfeferd gl 8|

34) Which of the following is not a scientific question? / FgfIfaa A Bl

U A1 D UY g1 872

1. What is the density of water? / Tl &1 99 fdT %?
2. Why can we not see in the dark? / 8H 3R T ol ?Itﬂéﬂ@ b %?
3. What is meant by a secular republic? / W&‘f T BT ] 3‘[2f %?

4. Why is the colour of sky blue? / 3{TTRT BT T e 31 %?

Correct Answer :-

« What is meant by a secular republic? / yHfARUS TTe &1 T 3 %?

35) A formal event where multiple experts deliver their speeches is known

as ./ U YT U1 Sigi Bs fO2uy MU= Hyurdd s,
0 H S STl 2

1. Laboratory /EI'Ch"'I'QTIT*IT
2. Symposium / gl

3. Exposition / m#\f

4. Workshop / DI

Correct Answer :-

« Symposium / st

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? /39 3UUg &I AMH

a1 g, o uRa § eefifaer-smenfya Rren &t sem & foe faRiv = u ¥ yxAfas e
o @1 T Y1?

1. ERS2
2. EDUSAT
3. TechEdSat

4. ATS-6
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Correct Answer :-
« EDUSAT

37) What is meant by intervarietal hybridisation? /

SieRfafay Homwor &1 Fa1 3 ghar g2

1. Crossing between different varieties of plants. /
Tl & fafts vepR & o Yo (BIRi)

2. Crossing between different genera. /
3 USTTfa & ot ST (hi)

3. Crossing between genetically dissimilar plants. /
3TaifRIe =0 § g urell & ofa Jaar (i)

4. Crossing between two different species of the same genus. /

U &1 9 &b &l THT ISl o Sifd Hepedl (PIT)

Correct Answer :-

« Crossing between different varieties of plants. /

Tl & fafts v & oie YT (BIRi)

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable?/Wmafmgir@ﬁﬁﬁm&ﬂmma?mG{W
AT B TaRIHdT gl 2 | Pam d Ry et grT Ry & Rreor 1
e ®1 P o, Frafafaa & @ @19 a1 Suge 78 82

1. Parents’ view of the teacher. /@T&‘W% W-ﬁ?ﬂﬁ?@ﬁuﬂ

2. Performance report of the students in the subject. ) fawa © Sl &t HC'RT"I

RO |
3. Students’ feedback on the teacher. /ﬁTW R B Bl Ufafpan|

4. Other school’s opinion of the science teacher. / 3 fagmaal & fage e &
IR UM

Correct Answer :-

« Other school’s opinion of the science teacher. / 3 faeredl ot fage fRree &
IR T I
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39) The factor that does not influence the formation of winds is: /

g fafor &Y guTfae 9 S aren sRe e @
1. Presence of mountain ranges / Tdd gaal D1 IurRUf
2. Presence of seas and oceans / ﬂ'ﬂ?ﬁ 3R TENIRI & JufRufa

3. Uneven heating of the atmosphere in different regions of the earth / qu‘:ﬁ & fafr =i o
dIdTdRUl hT AFHIA diU-d

4, Rotation of the earth / E[?—Eﬁﬁ ‘qpﬁ

Correct Answer :-

« Presence of seas and oceans / {-H;M\I. 3R HeNIRI &1 SURYfd

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied

is /

W9 fordt faRiw a8 W 1000 <[ &1 3¢ TANT giaT @ df 39 9d8 W @ aTeT ga1d 10 Pa Ul
1T 8, @ 96 VT 98 BT &5 fha 8:

1.0.001 m?
2. 1000 m?
3. 100 m?
4.10 m?

Correct Answer :-

« 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

IR TGt P, Q, R Td S &1 7ifal =T 10 W/F, 36 farwit/wer, 18f% /et oz 30tfl/A B 1 fv &t
axgail @t afa g9 32

1.RandS/RQ—OTS

2.PandR/PTIR

3.Pand Q/PTIQ
4,QandS/QUIS

Correct Answer :-
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« PandQ/PUTIQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

S Ugad @t 9id fraeil IR 20 el & are AT B o et 32
1.10
2. 20
3.40

4, 60

Correct Answer :-

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g = 10m/s?)/

TS Tig 100 1 Y FHars A FRTE oIl 81 g &1 Y T ug=q A a1 T9a T (g = 10m/s2)
5 2455

5425

3.20s

4, 25s

Correct Answer :-

44) Amount of energy transferred from one trophic level to the next is /
TP NP wR A 3T G &R H R™YFART Sl PLAFT gl g

1. 5%

2. 20%

3. 15%

4. 10%

Correct Answer :-

e 10%
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45) The acid present in Rancid butter /
fapa et wrRa A SR sra gaT @

1. Butyric acid / W STRT

2. Acetic acid / m 3T

3. Lactic acid / Qfaeds 3

4. Formic acid / BITH® 3

Correct Answer :-

+ Butyric acid / @ﬁﬁaﬁ STl

46) In an electric motor, the energy transformation is from: /
% fagga Aiex &, Sl uRad= &ar gidr &:

1. Magnetic energy into electrical energy / 1giGIGl’JhI!—I Sl &bl faczgd Foll o

~

2. Mechanical energy into electrical energy / gif® do\flTW faqu d)\fl‘f'ﬁf

3. Electrical energy into magnetic energy / faggd Sl &1 Gad i Soif A
4, Electrical energy into mechanical energy / faggd Sl &1 TifA® SHoif F

Correct Answer :-

« Electrical energy into mechanical energy / ﬁagﬁ Foll &1 Tife Fof J

47) CANCELLED

Thick layer of fat called blubber is found in: /
SR ATHS o1 DI HICT IRd $96 URA &1t g
1. Whale / &

2. Polar bear / A1 HIT]

3. Camel /3¢

4, Shark / T$

Correct Answer :-

. Whale/%ﬁ

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /
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e HUHTSIP U gid § 3R 9 gt & 1% HRd 3 |

1. They transfer energy to the next trophic level in the food chain. /
3 T 4RI H 3T TP hal TR TR Soll RIFIART B 8 |

2. They are also called as saprophytes or reducers /

I8 gold! a1 TYHRS Ht HeT S g |

3. Decomposers are also scavengers and they clean the earth. /
3T TSI Y B1d & 3R d Jedt & 1 Hd ¢ |
4. They help in recycling nutrients. /

q UIves YAREeH Ul Hag $HRd & |

Correct Answer :-

« They transfer energy to the next trophic level in the food chain. /

J T YA B AT TPl WR IR ol RIFARd HRd g

49) Which of the following is not a child-centred classroom? / ﬁ'ﬁ'%’@?f = ﬁq-ﬁ

qTA-bivod BET TG 82

1. Teachers promote collaboration in learning / fRrefep SHfERTH H AR hl deldl
a8l

2. The teacher is a facilitator instead of an instructor / TR1&f Uh PIRIfAE & T
U qH-a0F 5 |

3. The teacher decides content, instruction method and assessments / fRrerep Fltlj}ﬁ,

e f3fY 3R 3w &1 FAvfg HRar gl

4. The students have a choice to pick assignments and decide assessment criteria /
ST & UM SRIEHE T 3R i AMGS a0 B Pl faddhed g

Correct Answer :-

« The teacher decides content, instruction method and assessments / Rrer® ﬂm"/ﬂ,

e RfY 3R e &1 fRufg Hrar gl

50) Which of the following wastes is not bio degradable? /
fFrofafed § Q S19-a1 sfdre 9 Ay a1 99 sawiia T8 82

1. Vegetable peel / iewal & vad
2. Milk sachets / g4 & Udbe
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3. Cow dung / T &1 &R

4, News paper / &dR

Correct Answer :-

« Milk sachets / q¥ & U

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / ﬁ'ﬂﬁl@ﬁ # & o9 91 UfermH Ef@aﬁvl', Gﬁ'{lﬁﬁﬂ?
TSI BT YU | STt 872

1. Experiential learning / SITHAIHSD 3Ty

2. Collaborative learning approach / TEANTIHD HfETH TPHI0T
3. Analogy strategy / HIEY RUEI|

4. Concept mapping / FIGT= A0

Correct Answer :-

« Concept mapping / I AR

52) Which of the following can help the students to learn science through kinesthetic

movements?/ﬁmﬁﬁﬁﬁqwaﬁmmﬁ$mmﬁﬁmmﬁ
H W PR gPdl 82

1. Written test / foifaa uterm
2. Debate / dTg-fddrg
3. Drama / dIch

4, Quiz / PENE]

Correct Answer :-

« Drama/ICch

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe fordl avg ) Y81 By 3R Srada gUUT & Iehdl & g H @7 oI &, <t Bfd Bt yepfa grfl:
1. Real, enlarged and inverted / IRATd%®, 3iHafefd Td It

2. virtual, diminished and erect / 3THRT, YT Td Hiet

3. Real, diminished and inverted / AR&Ide, G fd Td I
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4, Real, diminished and erect/ drdfded, Hpfad Td didt

Correct Answer :-

 Real, enlarged and inverted /W, Hﬁ-ﬁfﬁﬁ@ 3ec]

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

faftra omg ot & @il &Y sraT-arert | § g @1 srazgwar gl 71 Fafafea o 3 59 e 3t
TIY 31T SR gidl 22

1. Child / d<dT
2. Infant / |3|32|

3. Man /=Y
4, Woman /II'%W

Correct Answer :-

. lnfant/m

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on
that surface is: /

2.5 m2 &1 TP Tdg U JME=Ad: 100 N BT 9 ST ST 2 | |8 R a4 91l 3919 2:
1.400 N/m?2
2.40 N/m?2

3.4 N/m?

4, 250 N/m?

Correct Answer :-

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: /wﬁw&mﬁmﬁﬁvﬁzﬁﬂmmmﬁﬁ
DI F 5T 7, SU S5 UicaTed ST A1 fob:

1. Investigate ideas / EERCARIEERY

2. Development of models of inquiry / STl G IR (HTS o) CANCEARGERY

3. Observe phenomenon keenly / 9l G| S b dl |
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4. Frame questions / I UY IR BN |

Correct Answer :-

. Observe phenomenon keenly / YCHl Cal| S hdl o |

57) Which of the following would not promote active discussion? / ﬁmﬁrﬁﬁ H

A DI |itha 9t Bt ITaT A1 G2
1. Selecting topics from upcoming tests. / SATTHT GRI&oT ¥ fawl 71 == =1

2. Summarizing ideas with the help of learners at the end of a discussion. / EEIKD
3id H fRiafiial o1 wgradr 4 faaRi &1 SRifRid S|

3. Acknowledging learners for responses. / gfafhar & faw Rrefdal @ WeRr
DT

4. Encouraging questions as well as responses to each other’s questions. / BSCISIED

WIS BT UG 1Y BT Th-GaR o Ul DT SIdTel G|
Correct Answer :-

. Selecting topics from upcoming tests. / SMTTHT TRIEfOT & T 1 o e

58) Which of the following statements is false with respect to scientific theories? /

T Rigidl & dedy # Frafafaa § e ar sy Tea 82

1. A theory must be tested with rigour. / U ﬁ-lc‘s‘(ld D[ Tedl & Y qﬁ&l'UT ICRIRSIG

ElIHY
2. Theories must follow observations. / I%I@Ial Gl Q&Wﬁ AR INEGRGI EIT%'QI

3. Theories may be expressed as an equation. / I%@Ial ﬁ Udh gHIHRUT % =y ff
ad fear S gpar g

4. Predictions of theories must be reproducible. / RIGr=dl &1 HiaTeaTor 3/axy
Y Y G4 gl =1feu

Correct Answer :-

« Theories must follow observations. / I%I@Ial P ﬁr&wﬁ AR NGRS EIT%EI

59) A scientific theory cannot be expected to: / Th agfae Rrgia & sruem Tg)
DI ST Tball b -
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1. Predict all outcomes / T TRUTHT &7 liOITjHI"I R |
2. Resist falsification / S H U] b IEREER]

3. Receive questioning / Uil 1 U DY |

4. Change with time / JHY & gy WI

Correct Answer :-

« Predict all outcomes /H‘l-ﬁ gfomHy 1 l;LdeHH TR |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

P A Imafae Ide! & aife v A gt srefla gt & aur Y Srguerss ) wiret 81
U TG B F3RIR B34 & e Ar=ud: 769 uerd &1 ) & fyeran siran g2

1. NaOH

2. Mg(OH)2
3. Na2C03
4, CaO

Correct Answer :-

« CaO
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